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Question Number : 1 Question Id : 6804016611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rohit starts from home town’ and travels 60 km is east. He takes right turn and travels 30 km, again takes right turn and
travels 90 km. Finally he turns right and travels 2 km. In which direction is he facing now?
Options :
1. % West

> % South
3. % North-East

4.+ North

Question Number : 1 Question Id : 6804016611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

4.« Jeal

Question Number : 2 Question Id : 6804016612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the pairs which have same relation as in the pairs given below.

DHP: 1684
Options :

1. % FGK 11176
> % VPR : 182216
3 % ENQ : 51417
4.« XBJ: 10224

Question Number : 2 Question Id : 6804016612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

fedt & ¥ 38 oA & 997 AT I O 77 F FA @9y F @FT w @l

DHP : 1684
Options :

| % FGK :11176
, « VPR : 182216
; « ENQ : 51417

4.« XBJ 1 10224

Question Number : 3 Question Id : 6804016613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

Problem Fig.

@@@@?

B C D]

Answer Fig.

SIS

2 3

Options :
1.¢ 1

) % 2



Question Number : 3 Question Id : 6804016613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ca} Hpiadr (Answer Fig.) # ¥ 38 faed &7 o0a HITST A1 92 HHTa (Problem Fig.) y@em H
TRARIES (?) ¥ TS 9T HT T B

Problem Fig.

& B &’ |

A B C D

Answer Fig.
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Question Number : 4 Question Id : 6804016614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third figure C in the same way as the second figure B is related to the first figure
Al

Problem Fig.

21| 1A

Qo000 JAVAVAVAYAY

A C

Answer Fig.

?
A I 10 (BB

AANA

I
Options :
1% 1

]

2. %

3.4 3

Question Number : 4 Question Id : 6804016614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Problem Fig.

11 1A ]| 2
Qo000 | 000 aaaaa
A B D
Answer Fig.
AT VVV TA& DI:_,,:‘»
[
%aa Wv ArA | P
| 2 3 4
Options :
1. % 1
2. % 2
3. 3
4.% 4

Question Number : 5 Question Id : 6804016615 Question Type :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct water image of the given figure.

&

Arsveer Fig
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MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Options :
1% 1

b

2.

Question Number : 5 Question Id : 6804016615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

= 3fa F TEr I 9T F1 T99 3o HHIAAT (Answer Fig.) § & H:faw)

Answer Fig

% | & D B

1 Z i 1

Options :

1% 1

2.« 2

4 % 4

Question Number : 6 Question Id : 6804016616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three of the following numbers pairs are alike in a certain way and one is different. Pick the odd one out.
Options :
1. % 8:72

2o % 11:132
3. % 14:210
4.« 17 :340

Question Number : 6 Question Id : 6804016616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 @ e geur-grw Bl 9@ ¥ 3w 7 w9 € 3N UF WIS B HEIT WEA-IIH #9394
HITAT

Options :

[ % 8:72
, % 11: 132
3 % 14 : 210
4 v 17 : 340

Question Number : 7 Question Id : 6804016617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anit, Bipin, Chand, Dev, Erum, Fahad, George and Huem are sitfing equidistance around a square table facing towards

center in the same order in anti clockwise direction respectively.

If Dev is facing North-West, In which direction Huem is facing?



Options :
1« South- East

> % North
3 % South-West

4 % North- East

Question Number : 7 Question Id : 6804016617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| O =

7 % 3cdd
. FEefs

, x FoRTE

Question Number : 8 Question Id : 6804016618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two statements are given, followed by two conclusions numbered I, and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the

statements.
A. All foals are fin.

B. All fins are car.

Conclusions :
L Some cars are fin.
1I. Some fins are foals.
Options :

| % Only conclusion I follow.

» % Only conclusion II follows.

3 +« Both conclusion I and conclusion II follow.

4. % Neither conclusion I nor conclusion II follows.

Question Number : 8 Question Id : 6804016618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 6804016619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Consider the diagram below which represents the number of persons who belong to different classes. Circle represents
Married people, Triangle represents candidates preparing for SSC-CGL exam. Square represents candidates preparing

for UPSC-Civil Service exam and Hexagon represents candidates preparing for State PSCs exam.

What does 37 represents?

Options :

| % Married candidates preparing for SSC-CGL and State PSCs exams.

», % Married candidates preparing for SSC-CGL, UPSC-Civil Service exams.

;3 % Married candidates preparing for SSC-CGL, UPSC-Civil Service and State PSCs exams.

4« Unmarried Candidates preparing for SSC-CGL, UPSC-Civil Service and State PSCs exams.

Question Number : 9 Question Id : 6804016619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 10 Question Id : 6804016620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which letter cluster will replace the question mark (?) in the given series?

E1LM, HRQ, KXU, NDY, ?
Options :
v QIC

2. % QAJ
;% QKA

4 % QA

Question Number : 10 Question Id : 6804016620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
& T ST H HIA-0T HaR-THE TeAar=e f=eg (?) & TUH 2

ELM, HRQ, KXU, NDY, ?
Options :

| v QJC

, % QAJ

3 % QKA

4 = QIA

Question Number : 11 Question Id : 6804016621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a code language, 'CUNNING' is written as ‘32114149147°. How will 'EDIFICE' be written in that language?
Options :
1.« 5496935

5 % 5499635
3 % 5466935

4. % 5469935

Question Number : 11 Question Id : 6804016621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS FHe ST & 'CUNNING' # '32114149147' foam Smar €1 38 omwr & 'EDIFICE' @ fPrr smeen?

Options :
| v 5496935

, % 5499635
; % 5466935

4. % 5469935

Question Number : 12 Question Id : 6804016622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ajay walks 1700m in East, then he turns left and walks 2700m, he again turns left and walks 1700m. Finally he turns
again left and covers 1400m. How far is he from starting point?
Options :
1% 3400m



7 « 1300m
3 % 4100m

4. % 4400m

Question Number : 12 Question Id : 6804016622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

35T 93 Fr 3R 1700m T g, T 98 91¢ J3ar € AR 2700m Foar g, 9% O ¥ 91¢ gEar g Ak
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Options :
| % 3400m

5« 1300m
5 % 4100m

4 = 4400m

Question Number : 13 Question Id : 6804016623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



H

P+ Qmeans ‘ Pissonof Q’

P - Q means * P is father of Q’

P % Q means * P is daughter of Q’

P+ Q means * P is husband of Q’

Which of the following istrue for A-C+D*E+K?
Options :
1. ®% Aissoninlawof D

> % Dis father of A
3 #% Eisuncle of A

4.+ Kis mother in law of A

Question Number : 13 Question Id : 6804016623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 6804016624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the pairs which have same relations as in the pairs given below.

KMP : 201715
Options :
1. % HGK:11176

» % VUR: 182216



; % ENQ:51417

4.« XBIJ: 14628

Question Number : 14 Question Id : 6804016624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ'ﬂ'ﬂ'ﬂ'ﬁﬁ?—q’iﬁﬁmgmﬁrﬁﬂﬁ Ftee foad 7 & 7 FEr F §H T 999 2

KMP : 201715
Options :
1 % HGK 11176

, % VUR : 182216
; » ENQ : 51417

4.« XBJ : 14628

Question Number : 15 Question Id : 6804016625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.
Options :

1. % CGK

7 « FEKEP

3 # VZD



4 % RVZ

Question Number : 15 Question Id : 6804016625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfafle =R nR-TE # ¥ 39 e RRed % ¥ 79 8 3R o Bew 31 37 e -
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Options :

| % CGK
> v FKP
; % VZD

4 % RVZ

Question Number : 16 Question Id : 6804016626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third figure C in the same way as the second figure B is related to the first figure

A.

ProblemFig
A
Answer Fig

.
27

o~
<

Options :



1.« 1

Question Number : 16 Question Id : 6804016626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ProblemFig.
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A

Answer Fig.
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Question Number : 17 Question Id : 6804016627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following pairs of figures are alike in some way and one is different. Choose the odd one.

Answer Fig.

Options :
1% 1

LR
L
B

b

2.

Question Number : 17 Question Id : 6804016627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 18 Question Id : 6804016628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct water image of the given figure.

PROBLEMS

Answer Fig.

PYOBIEM2| PKOSIENZ | bKOBrEW2 | bYOBLEW2

| 2 3 4
Options :
1% 1

N
®
(3"

Question Number : 18 Question Id : 6804016628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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PROBLEMS

Answer Fig.

PYOBIEM2| PEOBIEWNE | bEOBIEWZ | bHOBLEWZ

I 2 3 4
Options :
1. # 1

2.$2

Question Number : 19 Question Id : 6804016629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number-pair in which the two numbers are related in the same way as are the two numbers of the following

number-pair.



Question Number : 19 Question Id : 6804016629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
38 HEA-GIA F 90 ] [ST8H & HEAT 3 TR FaiOd § Y Aearoiad BEa-geA $ ar
e i ézl

3 1 &2
Options :
| % 5:125
, w7338
s % 91739
4% 11 : 952

Question Number : 20 Question Id : 6804016630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following numbers are alike in a certain way and one is different. Pick the odd one out.
Options :

L% 221



Question Number : 20 Question Id : 6804016630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT # @ 99 geaw vs R afs @ gaw § 3t s e &1 ' s g = 9ue

FriaT

Options :
| % 221
7 % 323
s % 391
4. 247

General Awareness
Group Number : 2
Group Id : 68040136
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 680401132
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 680401152
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6804016631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to National Education Policy 2020, what is the Pedagogical & Curricular structure of School Education?
Options :

1. % 3+2+5+2

2. % 5434242

3. ¥ 5+3+3+4

4, % 3+5+2+2

Question Number : 21 Question Id : 6804016631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP e A 2020 F TR Wpeh e 3 AefOE SR UreuHH-Geit W= F1 72
Options :

1. % 3+2+5+2

2. % 5+3+242

3.9 5+3+3+4

4, % 3+5+2+2

Question Number : 22 Question Id : 6804016632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The INDRA 2021 was a joint military exercise by India and
Options :

1. * Maldives

2. ¥ Russia

3. % Sri Lanka



4. % Indonesia

Question Number : 22 Question Id : 6804016632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

INDRA 2021 HRd 3R DT WG JGI I AT
Options :

1. % AT

2.9 %Y

3. % giciepl

4. % SSHRMA

Question Number : 23 Question Id : 6804016633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which deity is worshiped during 'Chhath Puja' festival?
Options :

1. # Lord Ram

2. % Lord Sun

3. #* Lord Shiv

4. % Lord Ganesh

Question Number : 23 Question Id : 6804016633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

B3 UoT eR B {59 39 &1 goll &1 et 82
Options :

1. % YI[AHMH

2. & WaH

3. % yiraH g

4. % TG O

Question Number : 24 Question Id : 6804016634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which of the following historical events did Vir Kunwar Singh play his important role?
Options :

1. % Surat Split

2. % Revolt of 1857

3. # Civil disobedience movement

4. % Quit India Movement

Question Number : 24 Question Id : 6804016634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

for QfgTRIe g & IR Hor Ris 7 Tgayul Yffre Ry
Options :

1. % IR fqUeH

2. ¥ 1857 F1 faslg

3. % GiATg 3fasT sficied

4, % YR BIS! MG

Question Number : 25 Question Id : 6804016635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among of the followings is not a 'Local Area Bank' in India? (As October, 2021)
Options :

1. % Coastal Local Area Bank Ltd.

2. # Krishna Bhima Samruddhi LAB Ltd.

3. ® Subhadra Local Bank Ltd.

4. % Au Small Finance Bank Ltd.

Question Number : 25 Question Id : 6804016635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa & -1, URa B ‘aied TR d& T8 82 (3R, 2021 IH)
Options :

|. % HRed Alhd TRAT d& fafies



2. % pun Ui 9gfs LAB fafiics
3. % JUGE Al d dob faffes
4. ¢ TG WA By o fafies

Question Number : 26 Question Id : 6804016636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the mismatch pair (Planet and its Satellite) from following-
Options :

1. % Mars - Phobos

2. # Jupiter - Europa

3. % Uranus - Ariel

4. % Saturn - Titon

Question Number : 26 Question Id : 6804016636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & 9 S0d g (18 3R SUF SUUE) $I UgdH B |
Options :

1. % T - BIa

2. % ggHfd - Rl

3. % gy - TRad

4.+ QA - TZEH

Question Number : 27 Question Id : 6804016637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 'Nati' folk dance is performed in
Options :

1. % Punjab

2. % Himachal Pradesh

3. ¥ Maharashtra

4. % QOdisha



Question Number : 27 Question Id : 6804016637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ThAe T Hfeama
Options :

1. % Uolg

2. ¢ fRuTEa wew

3. % HERY

4. % Ifszm

Question Number : 28 Question Id : 6804016638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the incorrect statement from following -

Options :

1. # The 'Govardhan Puja' is also known as 'Annakut Puja'.

2. % The 'Gudi Padwa' is a grand harvest festival of Maharashtra.
3. % The 'Dree' is a harvest festival in West Bengal.

4. % The 'Hornbill' festival is celebrated in Nagaland state.

Question Number : 28 Question Id : 6804016638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoied & § 7Ted &F & ugaH |

Options :

1. % MatH go &1 '3fdHe Yol & =0 & SIH1 S ¢ |
2. % TSI USAT HERTY PT B Hels BT HA AR 5|
3. ¢ S YW Sd § A HeTs Hl AR 7

4. % NTAS T H giHfoa AIgR H11 Sar g |

Question Number : 29 Question Id : 6804016639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the incorrect statement about Babur from following -



Options :

1. % Babur was given the title of 'Ghazi' after his victory in the battle of Panipat.
2. # The residents of Kabul gave the title of 'Qalandar’ to Babur.

3. # Battle of Khanwa was fought by Babur and Rana Sanga in 1527 AD.

4. % The Mughal Dynasty was founded by Babur in 1526.

Question Number : 29 Question Id : 6804016639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad O 9 9Tk & aR § Ug! Y9 DI UgaH de|

Options :

1. ¢ UHIYd & g B ST6R B IGH! Sitd P 918 Tt B IUTY < 73|
2. % HIYA P ARl A IR DI B! IUTY ol |

3. % WHAT BTG 1527 5. T SR 3R A0 TR GRT AST 7T T

4. % TTQ G D1 IO IT6R GRT 1526 5. H 1 T3 |

Question Number : 30 Question Id : 6804016640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which range of Himalaya, the 'Photu La' (Fotu La) pass is located?
Options :

1. % Ladakh range

2. ¥ Zanskar range

3. # Pir Panjal range

4. % Karakoram range

Question Number : 30 Question Id : 6804016640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
feTera &1 fr uda Auft § HIg @ (Fotu La) &R fRUT 82
Options :

1. * oard gufl

2. SRR Uil

3. % UR Gofre 4ot



4. ¥ HRIGRY Uit

Question Number : 31 Question Id : 6804016641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Census of India 2011, what is the gap between male and female literacy rate in India?
Options :

1. % 22.67%

2. % 20.43%

3. % 12.45%

4. ¥ 16.68%

Question Number : 31 Question Id : 6804016641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA BT 2011 B STUFT P TR HRT H T3 3R AR eRdT & H fbdr 3iaR 82
Options :

1. % 22.67%

2. % 20.43%

3. % 12.45%

4.9 16.68%

Question Number : 32 Question Id : 6804016642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among of the following banks is working in private sector? (As October, 2021)
Options :

1. ¥ Federal Bank Ltd.

2. * Punjab & Sind Bank

3. % UCO Bank

4. % Bank of Maharashtra

Question Number : 32 Question Id : 6804016642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafied & 9 $H-91 & (ol &85 § S/ o 8T 82 (3R, 2021 & B [T & 3IER)
Options :

1. ¢ Texd a9 .

2. % Uold Us Riy o

3. % UCO d&%

4. % 9% 3t ARTY

Question Number : 33 Question Id : 6804016643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among of the followings is not a Financial Institution of India?
Options :

1. % Export-Import Bank of India

2. # National Housing Bank

3. # Small Industries Development Bank of India

4. ¥ Rural and Agriculture Development Bank

Question Number : 33 Question Id : 6804016643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofifed § 9 oF-I, yRd ot foxdta g ==l g2
Options :

1. % UaUIC-SUIC 9o T Sfear

2. % AR G RIT dd

3. % WA SSIol odaUdc o 3 gfsar

4. ¢ T TS ThidheeR STAUHC b

Question Number : 34 Question Id : 6804016644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian Constitution is the longest written Constitution in the world originally containing -
Options :

1. % 395 Articles, 25 Parts and 10 Schedules



2. % 395 Articles, 20 Parts and 12 Schedules
3. % 395 Articles, 22 Parts and 08 Schedules
4. % 395 Articles, 22 Parts and 11 Schedules

Question Number : 34 Question Id : 6804016644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ty fay &1 9e o e Ifoum 8, Sedq@sudy . wfa gl
Options :

1. % 395 3fFwvE, 25 HFT 3R 10 SIgfrar

2. % 395 3fwSa, 20 YT 3R 12 SFIYfel

3. ¥ 395 3FTa, 22 U 31R 08 SFIgfrr

4. % 395 3fTwSq, 22 HIT 3R 11 SFIYferl

Question Number : 35 Question Id : 6804016645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the mismatch pair from following -

Options :

1. # Article 76 - Attorney General of India

2. % Article 340 - Backward Classes Commission

3. ¥ Article 163 - Advocate General of State

4. % Article 339 - Scheduled Area and Scheduled Tribes Commission

Question Number : 35 Question Id : 6804016645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad o 9 98d g & ugd™ He|
Options :

1. % 3G 76 — AT RS 3 fsar
2. % 3Jwq 340 - IS Il ST

3. ¢ w56 163 — TSdIdhe O Rd [P W<

4. % TG 339 — STY(AT & 3R TG TS SATIRT




Question Number : 36 Question Id : 6804016646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subjects is not included in the Union List?
Options :

1. # Post Office Savings Bank

2. % Insurance

3. ¥ Public health and sanitation

4. % Cultivation of opium

Question Number : 36 Question Id : 6804016646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RifiRa & & P Riva S g & it 78 &
Options :

1. % URe Sfffthy TfdT o

2. % §iHr

3. ¢ AW W 3R W dl

4. % 3HIH B! Wl

Question Number : 37 Question Id : 6804016647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many teams will participate in Indian Premier League (IPL), 20227
Options :

1. % 08

2.% 12

3.410

4. % 14

Question Number : 37 Question Id : 6804016647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sf&T HfHR & (1PL), 2022 H faod=t E1H HIT Tl



Options :
1. % 08
2.% 12
3.410
4. % 14

Question Number : 38 Question Id : 6804016648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Arjuna Awards carries a cash prize of % , a bronze statue of Arjuna and a scroll.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s ignored for all candidates.
Options :

1. 500,000

2.100,000

3. 1,000,000

4. 250,000

Question Number : 38 Question Id : 6804016648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST RWRIAZ P DHE GDR, 39 &1 U H1e T 3R Th ®hid [ S g |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 500,000

2.100,000

3. 1,000,000

4. 250,000

Question Number : 39 Question Id : 6804016649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Vitamin is an antioxidant and also known as Tocopherol.
Options :

1.% C

2.% K

3. ¥E

4. % D

Question Number : 39 Question Id : 6804016649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

faerfm T& GRS e § 3R 39 TR Hit HgT Sl g |
Options :

1. % C

2. % K

3.vE

4. % D

Question Number : 40 Question Id : 6804016650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
-40°F is equivalent to —

Options :

1. % -45.56 °C

2.% -17.78 °C

3.9 -40°C

4. % 0°C

Question Number : 40 Question Id : 6804016650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
-40 T& BRETET SRR 3 -

Options :

1. % -45.56 °C



2. % -17.78 °C
3.9 -40°C
4. % 0°C

Arithmetic Ability

Group Number : 3

Group Id : 68040137

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Arithmetic Ability

Section Id : 680401133

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 680401153

Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6804016651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number 12940876 is exactly divisible by ------
Options :



Question Number : 41 Question Id : 6804016651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

12940876 &I quT &9 & Tasiieid a1 el TET &
Options :
1. % 3

Question Number : 42 Question Id : 6804016652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 : a . - i
At the rate of 8 % % p.a simple interest, how much will a sum of 2 5200 earn in 2years 3 months?
Options :
| % %1989

5 % %1564



3 % %1032.50

4 99450

Question Number : 42 Question Id : 6804016652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
sg%mwmﬁaﬁfszooﬁwﬂzmsmﬁmm

Options :
| % % 1989

5 % 7 1564
3 % 2 1032.50

4. v ¥ 994.50

Question Number : 43 Question Id : 6804016653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anju and Manju can together complete a piece of work in 30 days. After 18 days Anju left and it took Manju another 20

days to finish the work. How long will it take for Manju to finish the whole work all alone?
Options :

| % 24days

, % 30days

3 % 42days

4 S0days



Question Number : 43 Question Id : 6804016653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
35 AN A TF WY TF A H 30 GF 7 @ w5 wwa §1 18 G & g 355 = e g AR A
F FH TeA HA A 20 G 3R 0 &1 A T 3 W FHA W A H o G747 FRem?

Options :

| % 24 e

) % 30 i
3 % 42 e
4. v 50 fe=

Question Number : 44 Question Id : 6804016654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains of equal length pass a pole, running in opposite direction in 15 and 21 seconds respectively. The trains will
cross each other in

Options :

1 % 13.4 seconds

> % 14.8 seconds
3 % 15.6 seconds

4 +« 17.5 seconds



Question Number : 44 Question Id : 6804016654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAIA FeTg o g e G # AfAAE W@ gU O TEY Y HAw 15 HR 21 Fhs F 9N HA
gl & F TH g@EY H IR HE

Options :

| % 13.4 T
, % 14.8 T&s
; % 15.6 Teg
4 v 17.5 @

Question Number : 45 Question Id : 6804016655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of 8 numbers is 57.125. The average of the first two numbers is 42.5 and the average of next three numbers

is 54. If the sixth number is less by 5 and 10 than the 7th and the 8th numbers respectively, find the 7th number.
Options :
1. #% 65

) ® 67
3.¢ 70
4 % 72

Question Number : 45 Question Id : 6804016655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

8 TEaTat #r T 57.125 & 9gdr of gEarHt o T 42.5 § 3T s e geantt & siwg 54
g1 IfT =8 g&ar FA: 747 3T 83T g=ar ¥ 5 3R 10 FH &, ar 747 @& A9 S|

Options :
| % 65
5 % 67
3. 70
Lu 72

Question Number : 46 Question Id : 6804016656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
; : ; ; o : — ; : 232
If the radius and the height of a cylinder are in the ratio 7:6 and its volume is 7392 cm?, find its radius (use n= =~ 3

Options :
1. % 2cm

) % 8cm
3 & ldcm

4. % l6cm

Question Number : 46 Question Id : 6804016656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



g ve o & e AR S8 &1 gad 7:6 § 3R sHeT Huaa 7392 om® B, & sweh = A
T (=2 Fr 97T AT

7
Options :
1. % 2 cm

% 8 cm
3« 14 cm

4. % 16 cm

Question Number : 47 Question Id : 6804016657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the table below answer questions

Given below are the marks scored by 5 students in an examination in five subjects and the numbers in the bracket is the
maximum marks that can be scored by a student.

Name Subjects
Englisly{ 100 | Language{50) | Maths{ 120} | Seience(80) | Social
| | Studies(75)

A 78 43 [ 100 n |75
B 80 40 [ 111 60 [71
C 6 ) | 62 0 | 60
D 2 il |58 63 | 61
E 50 [T | 60 |54 52

Who scored the third highest aggregate total in all the subjects together if one considers the percentage scores (rounded
to the nearest whole number) in each subject and not the raw scores?

Options :

1. % B



Question Number : 47 Question Id : 6804016657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
foae arforeT # v 9teT & 5 ©rEr F 9= [{war 7 greg 315 T av § ik Fres # 310saw 3=
few a7v & S v o @R g B S w@ea g

e o
| 3T omar (50) | oo 120) | e AT o
(100) (80) T
(75)

A |78 48 100 72 75
B |80 40 11 60 7

c |es 32 62 70 60
[0 |2 41 58 65 61

E |50 42 60 54 |52

fE voiw ww & wfdee #R (P o7 ¥er & fw ifea) | fER &, 7 & aa 3@ w,
ar wehr Bt 7 For emey e s=aan g e g R

Options :

| % B

2. C
3. D

4. % E



Question Number : 48 Question Id : 6804016658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the fractions below will not result in a recurring decimal when written in its decimal form?

Options :
1

1, * &

[= 0 ¥ o | k2

= =

Question Number : 48 Question Id : 6804016658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfofea & @ e B & cvree & &9 & O I W 58 @ anadt gumes § afEfda a8
2

Options :
1

1. * &

o | ba

o | wa



o | e

Question Number : 49 Question Id : 6804016659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the options below gives the exact answer to

0.142857 x 0.7 x0.81 ?
Options :

| % 0.0800

7« 0.0
3 % 0.080999919

4 % 0.089

Question Number : 49 Question Id : 6804016659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & @ 37 o1 fesu, TeT v97 &7 WaT 3ca¢ YeId 4T 27

0.142857 x 0.7 x0.817?
Options :

| % 0.0809

7« 0.0

; % 0.080999919



4 % 0.089

Question Number : 50 Question Id : 6804016660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of 74 and another number is 37 while the LCM of those two numbers is 518. Find the second number.
Options :
L% 111

Question Number : 50 Question Id : 6804016660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

74 AR vH gE HEA F1 Agead FAMEAH 37 §, FATH S al\l HEAH! & AYcad FAGES 518
gl g8l "= A HL

Options :

L 111

, % 185
s v 259

4, % 333

Question Number : 51 Question Id : 6804016661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25
" . :l_
Simplify: [ﬁ+ {i of (126—:¥) | (1? v E)}+ 23

12 105 75 63 30

Options :

it

1. % 12
9

_’}'_

2. % 20
13

K=

3 % 15
_ 4

4. % 15

Question Number : 51 Question Id : 6804016661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HL

[1_+{(E+E)ﬂ l_(E xﬁ_;ﬁ)}...&
10 \105 " 75 12°\7 "5 "ea/) 30

Options :

11

v T
a

» % 120
13

y x O
2

4. ® 15



Question Number : 52 Question Id : 6804016662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election 95% of the eligible voters cast their votes. 30% of the votes cast were declared invalid. The winner got
60% of the valid votes. If the winner got 798 votes, how many of the eligible voters did not cast their votes?

Options :

1« 100

, % 120

Question Number : 52 Question Id : 6804016662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT H 95% U AT A T A S| S AT HAT F F 30% A e (if¥T fFw ey
&=ar & 2 747 1 60% $TTT STe 3T Ife T=ar = 798 A9 A &1, ar Ades 7 FIA I 99
AIeIaTHT H1 & GFaar oi?

Options :
v 100

> % 120
3 % 90

4 % 125



Question Number : 53 Question Id : 6804016663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between selling an item at a profit of 11% and at a loss of 15% was Rs 1235. What was the cost price of

the item?
Options :
1. % Rs 4840

» % Rs4760
3« Rs4750

4 % Rs4740

Question Number : 53 Question Id : 6804016663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
UF FEG B 1% F A W, AR 15% FH W 991 & & F7 AW 11,235 F| T F A oA
forgar grem?

Options :
| % 74,840

, % 74,760
1 v 4,750

4 % ¥4,740

Question Number : 54 Question Id : 6804016664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arun can do a piece of work alone in 50 days. If he works alongside Barun, the work is completed in 30 days. In how
many days can Barun do the work if he works alone?

Options :

| % 00days

5 o 15 days

3 % 80days

4 % 100 days

Question Number : 54 Question Id : 6804016664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTUT TF HA FT 3F 50 AT F FT gar g1 Ife 98 9907 & Ty BT F1 Far g, ar 17 30
Rt & g e g1 I 0T e Y wX A 9 fhaw T F S @ & Tehar 87

Options :

1 % 60 et

2w 75 TeF
3 % 80 fe=1
4 = 100 f&=r

Question Number : 55 Question Id : 6804016665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Manyata rowed a distance downstream in 8.82 hours while it took her 14.7 hours to row the same distance upstream. To
make the two-way journey in still water, how many hours will it take her?

Options :

| % 21.84

[~

3 ¢ 22.05

4 % 22.75

Question Number : 55 Question Id : 6804016665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIT ORI & HeJohel T gJf 8.82 U¢ H TF FIAT g, Faleh 38 URT F Fawe THT g aF Fial H
14.7 9 FT HET 97aT £ AT FoT H -0 (e 3K a197 31 ) 797 a3 F 39 Fas g &
THT @7

Options :
L% 21.84

5 % 23.52
3 v 22.05

4 % 2275

Question Number : 56 Question Id : 6804016666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sarika travels the first kilometre in 10 minutes, the second kilometre in 12 minutes and the last two kilometres @ 17
minutes per kilometre. What was the average time Sarika took per kilometre during this 4 km journey?
Options :

1.« 14 minutes

o % 13 minutes

3 % 15 minutes

2 %
14 - minutes
4.% 3

Question Number : 56 Question Id : 6804016666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR Tgen fFateey 10 e &, g freinier 12 e &, 3k 3| 2 km 17 fame i
el 1 T & 97 FET &1 37 4 km & I & ST AR & 9fa Greeer sitva g\ Saer

qr?
Options :

| v 14 fee
, x 13 fa=e
s % 15 fee

14§ e

4. %

Question Number : 57 Question Id : 6804016667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The current average age of X, Y and Z is 43 years. 8 years ago the average age of X and Y was 37 years. What is the
current age of Z?

Options :

| 39 years

> % 4l years
3 % 37 years

4 % 40 years

Question Number : 57 Question Id : 6804016667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y AR Z & acamer stea oy 43 a9 71 8 a¥ uger X 3R Y # Jiwa amyg 37 a¥ o) Z &
T 37y fasaer 82

Options :

| v 39 3%

b % 41 3§
3 % 37 99
4 % 40 TH

Question Number : 58 Question Id : 6804016668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The area of a trapezium is 140 cm? . The shortest distance between the two parallel sides is 8 cm and the length of one
of the parallel sides is 12.5 cm. What is the length of the other parallel side of the trapezium?

Options :

1. % 28cm

7 & 22.5cm

4. % 5Scm

Question Number : 58 Question Id : 6804016668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HHGE TgE #T aTGe 140 am® B1 & FASGR 1341 & e =gAaH g 8 cm g IR v
HAAER =T T a5 12.5 cm g1 TAGE AgES HT GH FAAR 3T $T F6S FAoad H ¥
frgar grem?

Options :
| % 28 cm

7 o 225 cm
3 % 17.5 cm

4 % 5 cm

Question Number : 59 Question Id : 6804016669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table below shows the earning (in Rs 1000) of 5 persons A, B, C. D and E during five consecutive months of a

given year.

Months | March April May June July
Persons
A 24.2 23.5 25.8 26 26.5
B 23.5 24,2 25.5 27 26.8
C 25.5 24.8 26.5 24 28.2
D 24.3 24.7 25.2 27 28.8
E 25 26.9 27.6 27.5 26.2

If we arrange the total earnings of each person during these five months in descending order, which person's earnings
will be the second in the list?

Options :
1. % A

2 & C

Question Number : 59 Question Id : 6804016669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



forer =R=T o & 9w H@F A9 F A 5 edfeaat A, B, C, D 3K E &$r 313 (21,000 #H)
frifera aifess & gefRa foFar wmar )

HT=T e | FHE S AT
enfra
F=% 24 2 25.5 25.8 26 26.5
=3 23.5 24.2 25.59 27 26.8
c 255 2.8 256.5 e 28 2
(] 24.3 24.7F 25.2 27 28.8
E 25 26.9 2756 2.5 2.2

g &7 3 91T AL % SR T ShHd BT Ho AT B NRIE FA A cqAeyd HY, af HE
cafea & ¥, 30 g H gEl T W gE?

Options :
1. A

Question Number : 60 Question Id : 6804016670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar chart given below shows the number of Corona-virus patients in five cities in the months of April and May in a

particular year.
mAprl = May
25000
L]
E - 20000
2
2
2 10000
S 10000
g 7000
— 5000
S 5000 | 4uoo 3000
.s I 2000 1500
- | =
z
& N & & p
Q.
Cities w

Find the increase in the total number of patients who got affected in May compared to the total number of patients who

got affected in April, in all the five cities put together.

Options :
1. % 29500

5 & 28500
3 % 27500

4 % 26500

Question Number : 60 Question Id : 6804016670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % 29,500

, » 28,500

, % 27,500

, = 26,500

General English
Group Number : 4



Group Id : 68040138

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 680401134

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 680401154

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6804016671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.

His parents are quite
business, did not surprise us.

Options :

1. % ruthless
2. % timid
3. * cynical
4. % liberal

, considering their family background, and therefore, their assent to John's decision to study further and not join the family



Question Number : 61 Question Id : 6804016671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
His parents are quite , considering their family background, and therefore, their assent to John's decision to study further and not join the family
business, did not surprise us.

Options :

1. # ruthless
2. # timid
3. # cynical
4. ¥ liberal

Question Number : 62 Question Id : 6804016672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct collocation.
I requested Mom to serve me a .............. before I head out for the meeting.

Options :

1. % fast meal
2. #* lazy meal
3. ¥ quick meal

4. % rich meal

Question Number : 62 Question Id : 6804016672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct collocation.
I requested Mom to serveme a .............. before I head out for the meeting.

Options :

1. # fast meal
2. % lazy meal
3. ¥ quick meal

4. % rich meal

Question Number : 63 Question Id : 6804016673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
Beinga .............. worker, he always completes his work on time.

Options :

1. # conscious

2. # conscience
3. % conscientious

4. % consensus

Question Number : 63 Question Id : 6804016673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
Beinga.............. worker, he always completes his work on time.

Options :

1. #® conscious

2. # conscience
3. % conscientious

4. % consensus

Question Number : 64 Question Id : 6804016674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct meaning of the given proverb.
Don't judge a book by its cover.

Options :

1. # Don't spend time only in reading the cover page of a book.
2. % The actual story of a text lies inside, not outside.

3. # Don't beat about the bush, but come to the main point.

4. % Don't judge people, places or things based merely on their appearance.

Question Number : 64 Question Id : 6804016674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct meaning of the given proverb.



Don't judge a book by its cover.

Options :

1. % Don't spend time only in reading the cover page of a book.
2. # The actual story of a text lies inside, not outside.

3. % Don't beat about the bush, but come to the main point.

4. ¥ Don't judge people, places or things based merely on their appearance.

Question Number : 65 Question Id : 6804016675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

She neatly folded all her scarves, handkerchieves and mufflers and stored them inside the drawer.
Options :

1. % She neatly folded all her scarves

2. ¥ handkerchieves and mufflers

3. # and stored them inside the drawer.

4. ¥ No error

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 65 Question Id : 6804016675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

She neatly folded all her scarves, handkerchieves and mufflers and stored them inside the drawer.
Options :

1. # She neatly folded all her scarves

2. ¥ handkerchieves and mufflers

3. # and stored them inside the drawer.

4. ¥ No error

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.



Question Number : 66 Question Id : 6804016676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the grammatically incorrect sentence part from the given options.

During certain seasons, several parts of Himachal Pradesh, is subject to strong winds and snowfalls.
Options :

1. #* During certain seasons,

2. % geveral parts of Himachal Pradesh,

3. ¥ is subject to strong winds and snowfalls.

4. % No error

Question Number : 66 Question Id : 6804016676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the grammatically incorrect sentence part from the given options.

During certain seasons, several parts of Himachal Pradesh, is subject to strong winds and snowfalls.
Options :

1. #* During certain seasons,

2. # geveral parts of Himachal Pradesh,

3. ¥ is subject to strong winds and snowfalls.

4. % No error

Question Number : 67 Question Id : 6804016677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
Autumn is the .............. of Winter.

Options :
1. * harangue
2. # hoax

3. ¥ harbinger



4. % hazard

Question Number : 67 Question Id : 6804016677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate word as per the context of the sentence.
Autumn is the .............. of Winter.

Options :

1. # harangue
2. % hoax

3. % harbinger
4. % hazard

Question Number : 68 Question Id : 6804016678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill up the blank with appropriate preposition.
Central government employees have the day.......... every Saturday.

Options :
1. #* out
2.9 off
3. % on

4. % for

Question Number : 68 Question Id : 6804016678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill up the blank with appropriate preposition.
Central government employees have the day.......... every Saturday.

Options :
1. * out
2.9 off
3. % on

4. % for



Question Number : 69 Question Id : 6804016679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill up the blank with appropriate preposition.
Mr. Kamal Varma's remarks are tantamount ........... grave insult.

Options :
1. * with
2. % for
3.¥ to
4. % of

Question Number : 69 Question Id : 6804016679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill up the blank with appropriate preposition.
Mr. Kamal Varma's remarks are tantamount ........... grave insult.

Options :
1. % with
2. % for
3.¥ to
4. % of

Question Number : 70 Question Id : 6804016680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following sentence using the correct tense.
When Mr. and Mrs. Iyer .................. the children scream, they rushed out of their front door.

Options :

1. ¥ heard

2. #* had heard
3. % hear

4. * have heard

Question Number : 70 Question Id : 6804016680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Complete the following sentence using the correct tense.
When Mr. and Mrs. Iyer .................. the children scream, they rushed out of their front door.

Options :

1. ¥ heard

2. % had heard
3. % hear

4. ¥ have heard

Question Number : 71 Question Id : 6804016681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
I am learning Mandarin to communicate with my clients.

Options :

1. ¥ Present Continuous
2. % Simple Present

3. % Present Perfect

4. % Present Perfect Continuous

Question Number : 71 Question Id : 6804016681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
I am learning Mandarin to communicate with my clients.

Options :

1. ¥ Present Continuous
2. % Simple Present

3. # Present Perfect

4. % Present Perfect Continuous

Question Number : 72 Question Id : 6804016682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.



Shillong is known as ............... Scotland of the East.
Options :

1. % a

2. % an

3. ¥ the

4. % No article is required

Question Number : 72 Question Id : 6804016682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
Shillong is known as ............... Scotland of the East.

Options :
1. % a
2. % an
3. % the

4. # No article is required

Question Number : 73 Question Id : 6804016683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the suitable phrasal verb from the options given below.
It was not an easy task for Rameshto ............................ the haughty behaviour of the officer.

Options :

1. * put on for
2. % put off to

3. % put out with
4. % put up with

Question Number : 73 Question Id : 6804016683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the suitable phrasal verb from the options given below.
It was not an easy task for Rameshto ............................ the haughty behaviour of the officer.

Options :



1. * put on for
2. % put off to
3. % put out with
4. % put up with

Question Number : 74 Question Id : 6804016684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'grumpy’ in the sentence from the given options.
Serena seemed to have a permanent grumpy look on her face these days.

Options :

1. ¥ surly

2. # proud

3. % dishonest

4. % guilty

Question Number : 74 Question Id : 6804016684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'grumpy’ in the sentence from the given options.
Serena seemed to have a permanent grumpy look on her face these days.

Options :

1. ¥ surly

2. % proud

3. % dishonest

4. % guilty

Question Number : 75 Question Id : 6804016685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
The Principal's ............ to conduct the football match inside the school premises made all the students very happy.

Options :
1. ¥ ascent

2. % accent



3. % ascend
4. % assent

Question Number : 75 Question Id : 6804016685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct option.
The Principal's ............ to conduct the football match inside the school premises made all the students very happy.

Options :
1. # ascent
2. % accent

3. % ascend

4. ¥ assent

Sub-Section Number : 2
Sub-Section Id : 680401155
Question Shuffling Allowed : Yes

Question Id : 6804016686 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)

Chess is life, said Bobby Fischer. Chess is like life, countered his arch rival, Boris Spassky. It was always a close contest between these two legends of the
game. A common point that emerges from both statements is that chess imitates life as few other games do. This, perhaps, explains the fascination it holds for
all, those that actually play the game as also those that just have a general interest in it. Parents, who otherwise consider sports as a distraction from
academics, nonetheless make an allowance for chess and would that their children excel in it. Benjamin Franklin felt that chess promotes useful habits in life.
Among these, Franklin counts three major habits. One, foresight, meaning the habit that 'looks into futurity and considers the consequences that may attend an
action'. Two, circumspection, meaning the habit that 'surveys the whole Chess-board, or scene of action: the relation of the several pieces, and their situations'.
And three, caution or the habit 'not to make our moves too hastily'.

Herein is a fundamental difference between the game of chess and dice. Whereas the game of dice is largely dependent on chance, chess depends on prudence
and calculation.

This game imitates life, but it would perhaps be more appropriate to say that chess imitates politics. Little wonder that it has been the favourite pastime of
royals the world over. The game is believed to have originated in India sometime during the Gupta rule (280 - 550 AD). It was then called chaturanga, a term
that refers to the four divisions of an army - infantry, cavalry, elephants and chariots - corresponding respectively, to the pawns, knights, bishop (called alfil,
elephant, in Persia) and rook (coming from the Persian rukh, or Sanskrit rath, both meaning a chariot). From Persia the game travelled to Europe, where it
gradually acquired its present format.

(Source: "Are You a Monkey, or Are You a Kitten?" by K.S. Ram and Uma Ram)

Sub questions

Question Number : 76 Question Id : 6804016687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
The word 'alfil'isof ..................... origin.
Options :

1. % Sanskrit

2. ¥ Persian

3. % Indian

4. % European

Question Number : 77 Question Id : 6804016688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, the game of chess is different from the game of dice because..............

Options :

1. # game of chess imitates politics whereas game of dice imitates economic decisions

2. % game of chess was the favourite pastime of the royals whereas game of dice was played by commoners
3. ¥ game of chess requires foresight whereas game of dice is dependent on chance

4. % game of chess looks into futurity whereas game of dice looks into the present situation

Question Number : 78 Question Id : 6804016689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # Differences between Chess and Dice

2. # Chess is Politics

3. # The Origination of Chess

4. ¥ Life Lessons from Chess

Question Number : 79 Question Id : 6804016690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¢ Factual

2. % QSatirical



3. # Apathetic

4. % Humorous

Question Number : 80 Question Id : 6804016691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage means - 'foresightedness'?

Options :

1. # futurity

2. % calculation

3. % circumspection

4. % infantry

Question Id : 6804016686 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)

Chess is life, said Bobby Fischer. Chess is like life, countered his arch rival, Boris Spassky. It was always a close contest between these two legends of the
game. A common point that emerges from both statements is that chess imitates life as few other games do. This, perhaps, explains the fascination it holds for
all, those that actually play the game as also those that just have a general interest in it. Parents, who otherwise consider sports as a distraction from
academics, nonetheless make an allowance for chess and would that their children excel in it. Benjamin Franklin felt that chess promotes useful habits in life.
Among these, Franklin counts three major habits. One, foresight, meaning the habit that 'looks into futurity and considers the consequences that may attend an
action'. Two, circumspection, meaning the habit that 'surveys the whole Chess-board, or scene of action: the relation of the several pieces, and their situations'.
And three, caution or the habit 'not to make our moves too hastily'.

Herein is a fundamental difference between the game of chess and dice. Whereas the game of dice is largely dependent on chance, chess depends on prudence
and calculation.

This game imitates life, but it would perhaps be more appropriate to say that chess imitates politics. Little wonder that it has been the favourite pastime of
royals the world over. The game is believed to have originated in India sometime during the Gupta rule (280 - 550 AD). It was then called chaturanga, a term
that refers to the four divisions of an army - infantry, cavalry, elephants and chariots - corresponding respectively, to the pawns, knights, bishop (called alfil,
elephant, in Persia) and rook (coming from the Persian rukh, or Sanskrit rath, both meaning a chariot). From Persia the game travelled to Europe, where it
gradually acquired its present format.

(Source: "Are You a Monkey, or Are You a Kitten?" by K.S. Ram and Uma Ram)

Sub questions

Question Number : 76 Question Id : 6804016687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word 'alfil'isof ..................... origin.
Options :

1. % Sanskrit



2. ¥ Persian
3. % Indian
4. % European

Question Number : 77 Question Id : 6804016688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, the game of chess is different from the game of dice because..............

Options :

1. % game of chess imitates politics whereas game of dice imitates economic decisions

2. % game of chess was the favourite pastime of the royals whereas game of dice was played by commoners
3. % game of chess requires foresight whereas game of dice is dependent on chance

4. % game of chess looks into futurity whereas game of dice looks into the present situation

Question Number : 78 Question Id : 6804016689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # Differences between Chess and Dice

2. % Chess is Politics

3. # The Origination of Chess

4. ¥ Life Lessons from Chess

Question Number : 79 Question Id : 6804016690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¢ Factual

2. # Satirical

3. % Apathetic

4. % Humorous

Question Number : 80 Question Id : 6804016691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which word in the passage means - 'foresightedness'?

Options :

1. % futurity

2. % calculation

3. % circumspection

4. * infantry
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Question Number : 81 Question Id : 6804016692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A T IR WA &
Options :

1. % AT+ 3wy

2. % URH: + VY

3. ¢ TRY + 3Ny

4. % QXA+ 3N+ Y

Question Number : 81 Question Id : 6804016692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRAYE BT 3T WfR-foe B-
Options :

1. % AT+ 3wy

2. % T + 3V

3. ¢ IRH + 39y

4. % TRY + 3+ 7Y

Question Number : 82 Question Id : 6804016693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bl &1 9 favrs &-

Options :

1. % T A ol Th 1Y §

2. % TH A1 ol I 99 &

3. ¢ Qi <Iohl T FHIGR

4, % Y I Th AH

Question Number : 82 Question Id : 6804016693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Brde &1 aa faug 8-




Options :

1. % TS TN US A g
2. % JH Ap S Jed 99 §
3. ¢ O diPp| Bl GHBR
4. % YA BT TH AH

Question Number : 83 Question Id : 6804016694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
B fddhey, SufddR &1 0 78T § 2
Options :

1. % JUHAT 3ABR

2. ¢ 3IUT 3TDR

3. ¥ JTUP fADR

4. % ARG fcibR

Question Number : 83 Question Id : 6804016694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HI-1 fdbey, 3rufcidR &1 9e T8l & 2
Options :

1. % JUHAT 3ADR

2. ¢ U 3TADR

3. ¥ JTUD ADR

4. % ARG fiPR

Question Number : 84 Question Id : 6804016695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y& BT 3HHIAF gl 5-

Options :

1. % ufga

2. % Q&



3.« T
4. % RrgH fiage a8

Question Number : 84 Question Id : 6804016695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y& BT 3HHIAF gl 5-

Options :

1. % gfa=

2. % gl

|

4. % forg¥ firefrac A 81

Question Number : 85 Question Id : 6804016696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e, Her, ureh o7 Taieard 2e 3-
Options :

1. % P

2. % fobdre

3. JHT

4. % 2

Question Number : 85 Question Id : 6804016696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frare, B, e o7 TeeraTe Teg 8-
Options :

1. % pul

2. % fobdre

3. ¢ T

4. % T@



Question Number : 86 Question Id : 6804016697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fieT feram T - HeTar 1 3 &-
Options :

1. % Fft rRar A &

2. % TR B

3. % Sgd g &l

4. TR GRGT &AT

Question Number : 86 Question Id : 6804016697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TaT T — HeTaR &1 31 3-
Options :

1. % Fft dRar A g

2. % TR BT

3. % Sgd g ol

4. GHY IR oG &1

Question Number : 87 Question Id : 6804016698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
VAT HA R AT TR B HA BT VG @ -
Options :

1. # Ydhid

2. % qAHM BT

3. ¢ Hid® BT

4, % i IAAH BT

Question Number : 87 Question Id : 6804016698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ve e TR S |- B HTA BT VS § -



Options :

1. % Ydobld

2. % AU BId

3. ¢ Hfd9g ®1d

4. % T IdHH HTA

Question Number : 88 Question Id : 6804016699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed § 3 eH-a1 fdee, uiaw sra forar smem
Note: For this question, discrepancy is found in question/answer. So,this

question 1s i1gnored for all candidates.
Options :

1. AHI HiTs BT

2. YT Hfdw BT

3. 8deqye Uia= o1d
4. JTIHD Hid® BIe]

Question Number : 88 Question Id : 6804016699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froafafed # 3 oH-a1 fdwe, uiaw sra forar smem?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s ignored for all candidates.
Options :

1. A HiTs BT

2. Y1 Hfd® BT

3. 8deqye Uia= &1d
4. JATHSD Yid™ DHTd

Question Number : 89 Question Id : 6804016700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

R HRS H1 faufad g 2-
Options :

.Y AR

2. % 4P

3. % BLH

4. % 3R

Question Number : 89 Question Id : 6804016700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3HfYHI0 HRE w1 faufa g 8-
Options :

.Y HAR

2. % 4P

3. % ®LH

4. % 3R

Question Number : 90 Question Id : 6804016701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

firemg & A1 Ul 1 - Yaifohd ez oy fadivur &1 Iareun &2
Options :

1. ¢ URHTUETE fa=yor

2. % I IR

3. % TUErS AR

4, % YOATATED [GRIV0T

Question Number : 90 Question Id : 6804016701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
firema # s a & | - YEifhd Weg ford fa=Iur &1 3aTeRur 52

Options :



1. ¢ ORATUEES foRivor
2. % TIgIHG fa=wor
3. ¥ TUATad [ARIV0T

4, % TS [IRIV0T

Question Number : 91 Question Id : 6804016702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
o &1 3R - fawe -
Options :

1. % % +4mg

2. % 9. + Umg

3.¢ 9.+ O™

4. % (Y +UMT:

Question Number : 91 Question Id : 6804016702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
o &1 3R - fwe -
Options :

1. % % +4mg

2. % (9: + Og

3.¢ 9.+ 0™

4. % (Y +11T:

Question Number : 92 Question Id : 6804016703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHIFT BT gAY Ve -

Options :

1. ¢ dg¥Y {1

2. % ST FHNY

3. % fg g™



4. % gg ga™g

Question Number : 92 Question Id : 6804016703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
CRIUIRT BT TN VS -

Options :

1. ¢ dg>Y JH™H

2. % 3UIHTT JHY

3. % g aamN

4. % GG 9HN

Question Number : 93 Question Id : 6804016704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

0T UdTT & DS T TS 71 g1 1 UTT AT |— SABR BT e 2-
Options :

1. % JU&T 3APR

2. % TAY SfABR

3. ¢ SffrfaR DR

4. % gH® ADR

Question Number : 93 Question Id : 6804016704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

0T 1Y 3 ©1S & U 11 4l 1 UTe U7 |- 3THR T 9G 8-
Options :

1. % I 3HR

2. % Y 3ADR

3. ¢ A=A reipR

4. % JUD ADPR

Question Number : 94 Question Id : 6804016705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
a3 % U UgH TRI - Ufekd & SfciebR -
Options :

1. ¢ U 3APR

2. ¥ TUP AAPR

3. % A& PR

4. % fRIYTHNY 3refbR

Question Number : 94 Question Id : 6804016705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
§&3> TS U UgH WRIT - Ufad o 3/ddR &-
Options :

1. ¢ U 3ADR

2. % FOD AADR

3. % I DR

4, % fORIYTHI SreidbR

Question Number : 95 Question Id : 6804016706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT § IO H T 1T H HTd BT e o-
Options :

1. ¥ Ydhid

2. % ARG HidW BT

3. % qUf g9 H1a

4, GHTY Hid™ BTl

Question Number : 95 Question Id : 6804016706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
GHT § I 6 Y| 1T T HTd BT 9T &-
Options :



1. % YdPbra
2. % AR Hia HTd

3. % quf g Srdt

4. ¢ GYIg Hfdw BT

Sub-Section Number : 2
Sub-Section Id : 680401157
Question Shuffling Allowed : Yes

Question Id : 6804016707 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

Fs Al § Fo-59 [T TR &l Ui 4 R IUd! o o1 811 38 3| SaRT YHeR TR RiFedT S 38T 4Tl Ugd 39+ U+ el g3 el

AT, ST RicHR o6 Tl iR S8 HH US! dl S 96 11 {hr TST 51 7. 51d We X 1 ofTe HH Us! dl 34 74T 311 1| Sl o1 a81
2T & 3 ST & T m%mgm%aﬁmmﬁw%ahwﬁg&nwﬁww&mﬁmwa@% <f¥1 STETSI Bl IBTHR
Wﬁ%ﬁmﬁ?%mﬁﬁwmlwaﬁ%w$mﬁwwm wﬁﬁﬁg%wﬁaﬁﬁ%ﬁﬁﬂwﬁ?éaﬂtﬁ

‘{%WW;EWﬁwﬁ@rmwmwwdq\qﬁ&méﬁwﬁaﬁfﬁo‘ﬁ%?ﬂ%ﬁﬂ‘ﬁ@ﬂ%l

Sub questions

Question Number : 96 Question Id : 6804016708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Tl Y T9-T9 faeey [ Ui yord o ITadh! oA gl g A9
Options :

1. ¢ GHR DI

Question Number : 97 Question Id : 6804016709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H forgant ST quT b1y 1 auf 82
Options :

1. % SIgTell &bl

2./ GHER &I



Question Number : 98 Question Id : 6804016710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T ST BT 8 S I &1 HH AT AT §1” BT U4 -
Options :

1. % UgH fdd 9gd 3P HIY HRd 5|

2. % HgM afad B Hi 1Y HA T4 6|

3. ¢ HgH Sfad Sgd BH 1Y Hd |

4. % 1Y BT A BT Uclleh & |

Question Number : 99 Question Id : 6804016711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
THER A T SIgTSl ! gl b fadm
Options :

. % dHTSH |

2. % U HIR W

3.% JUAITEA R

4. A fagmefi |

Question Number : 100 Question Id : 6804016712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
CIRIRT STgTS g1 RT?

Options :

1. ¢ T¢-d-3M1h ST W

2. % SA MW

3. % g o

4. % §igrd

Question Id : 6804016707 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No



Question Numbers : (96 to 100)

H3 T W TS-TS e THeR &1 T 4dhdl R 3D THH &1 ST I A | JaRT THER AR RAedT o7 38T 4| Ugd 39 301 el gs il
U, g1 RwreeR 96 771 b S8 & U dl SHg 36 T U ST 81 T1... S WS Xg 1 ST bH UgH ol I T 1 77| Sl For1r w1
BN & T ST &) B TR STl 1 TR STl & q Aep Tl GIRB B STl 8, IR T g, I TP U 0+ ek} R Sl gU i wTeTSi] B SR
aa#ﬁﬁaa%wﬁq%&mﬁﬁﬂm%mwaﬁ%w%%ﬁwwﬁwwwﬁﬁﬁ—s%ﬂmﬁaﬁﬂ%ﬁvﬂwﬁzéw
S IR ge-Ged A1 &1 ToIRT &1 ST HIRIR, d R J T-hRA & Hifad Ta! 5l T |

Sub questions

Question Number : 96 Question Id : 6804016708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hs Il ¥ F9-9 foer frd dies (vt e ST ST i 3 82
Options :

1. v GHR I

2. % SISl Bl

3. % TEF B

4. % qdl

Question Number : 97 Question Id : 6804016709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H forreh ST T Shiel 1 9o 82
Options :

1. % SIgToll &l

2. GHR &I

3. % Al DI

4. ® Sfeqrt

Question Number : 98 Question Id : 6804016710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T ST BT § S I S HH T[T AT & 1” BT YT &-
Options :

1. % HgT fad 9gd 31 HiY Hd ¢ |

2. % TgH Afad Hf 1t iy FA A 5|



3. + HgH fdd 9gd &H Pt Hd g |
4. % PIY HAT AT BT Uel1P |

Question Number : 99 Question Id : 6804016711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
THaR A A SIgTell &1 Hal e faam
Options :

. % dHgsHI H

2. % 30 fFIR R

3. % JUAITEA R

4.« 1 fazmani 6

Question Number : 100 Question Id : 6804016712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIRNISEEEZHAUN
Options :
1. ¢ T2-d-3{10 SFEAT R
2. % AR
3. % g A
4. % qigTH

Disciplinel
Group Number : 6
Group Id : 68040140
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Disciplinel

Section Id : 680401136
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 680401158
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 6804016713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main role of a library is to help the users gain :
Options :

1. ¥ Access to Knowledge

2. % Access to People

3. % Access to the World

4. % Access to Culture

Question Number : 101 Question Id : 6804016713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RABTA Bt G- BT STRTHarsl &1 Ggrdl dRA1 g

Options :

1. ¢ SHFSINGI I Uga-
2. % QNI b Uga A

3. % AT d® uge o

4. ® IPHId b Uga |




Question Number : 102 Question Id : 6804016714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author of the book “The Five Laws of Library Science” is
Options :

1. ¥ WC Berwick Sayers

2. % SR Ranganathan

3. # PS Sivswamie Iyer

4. % Melvil Dewey

Question Number : 102 Question Id : 6804016714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

i " TS Tliel 31t AsR] HISH (YRADTe a7 o Ulel )" & d@eb DI 82
Options :

1. % &g, 1. 9 9T

2. ¢ QY. 3R JAYA

3. % U109, g s

4. % Bfcad Sl

Question Number : 103 Question Id : 6804016715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The great history and evolution of libraries in the ancient times was largely influenced by the :
Options :

1. ¥ Monastic Libraries

2. # Modern Libraries

3. % Private Libraries

4. % Public Libraries

Question Number : 103 Question Id : 6804016715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ot dTd H GRADTad BT HH Siagr 3R fasmr gead: forad guifad um

Options :

1. ¥ 43 Pl

2. % Y Rasbradl o
3. % ol gl

4. % Qa1 Jraebedl o

Question Number : 104 Question Id : 6804016716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The name of the National Library of USA is:
Options :

1. # British Museum

2. # Imperial Library

3. ¢ Library of Congress

4. % Oriental Library

Question Number : 104 Question Id : 6804016716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR oY SR & AP GEIPIad BT 18 T 52
Options :

1. % fore o1 Ul

2. % SUIRYS Qb

3. ¢ B BT [ABTad

4. % 3T Qe

Question Number : 105 Question Id : 6804016717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
MEDLARS offers a free web based service called:
Options :

1. ¥ PUBMED

2. % Index EEC



3. ¥ AGRIS
4. % INIS

Question Number : 105 Question Id : 6804016717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

VST U gud 99 SMUIRA AT IeH aRal g o weTSmarg|
Options :

1. ¥ PUBMED

2. % Index (3899) EEC

3. % AGRIS

4. % INIS

Question Number : 106 Question Id : 6804016718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Universal Availability of Publication (UAP) was maintained by:
Options :

1. % FID

2. ¥ [FLA

3. % ICSU

4. % TASLIB

Question Number : 106 Question Id : 6804016718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT D1 JraHIE IUASIT (UAP) fhTeh gRT SRR 3! T8 2t
Options :

1. % FID

2. ¥ [FLA

3. % ICSU

4. % TASLIB

Question Number : 107 Question Id : 6804016719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

The book “The Five Laws of Library Science” was first published in the
year:

Options :
1. ¥ 1931
2. %1932
3. % 1941
4. % 1951

Question Number : 107 Question Id : 6804016719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

" 1T TSl AT ATZeR] Aed (JRITad fafH & Uld G3) I8 [ Ugal aR by ay & UHhIRd gs &t
Options :

1. 1931 H

2. % 19327

3.% 1941 H

4. % 19519

Question Number : 108 Question Id : 6804016720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Connemara Public Library is located at:
Options :

1. * Kerala

2. # Karnataka

3. ¥ Chennai

4. % Mumbai

Question Number : 108 Question Id : 6804016720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIFHRT Uit ATSeR] Hol R RUd 82



Options :
1. % oid
2. % FHHAlCH
3. I9.
4. % a3

Question Number : 109 Question Id : 6804016721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Khuda Baksh oriental library is located at :
Options :

1. * Nagpur

2. % Delhi

3. % Kolkata

4. ¥ Patna

Question Number : 109 Question Id : 6804016721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Geraas 3RTed eTad $gf R fRUd 82
Options :

1. % AR

2. % faeedl

3. % DAL

4.« UcHl

Question Number : 110 Question Id : 6804016722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which month is the ‘National Library Week’ in India celebrated in India :
Options :

1. * September

2. % October

3. % November



4. % December

Question Number : 110 Question Id : 6804016722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA # RIST QedepTerd 9Tg’ [y #gi # W11 §rell o2
Options :

1. * ¥R

2. % SR

3. ¢ TdR

4. % fo¥R

Question Number : 111 Question Id : 6804016723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S R Ranganathan has perceived ‘Save the Time of the Reader’ as the :
Options :

1. # First Law

2. % Second Law

3. % Third Law

4. % Fourth Law

Question Number : 111 Question Id : 6804016723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH. 3R, TR A 'UI6H BT G Frsfl $l A G
Options :

1. % ygar fam

2. % IR fAgm

3. % iRy |

4.« g1 |

Question Number : 112 Question Id : 6804016724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which law of library science suggest books for all :
Options :

1. # First Law

2. % Second Law

3. # Third Law

4. % Fifth Law

Question Number : 112 Question Id : 6804016724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QETerd fag o1 HH-a1 g gt & forg qash uRatfad srar 82
Options :

1. % ggar fan

2. ¢ W1 |

3. % AR e

4. % Urgdl Fom

Question Number : 113 Question Id : 6804016725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The library working hours has a direct impact on:
Options :

1. ¥ First Law

2. % Second Law

3. # Fourth Law

4. % Fifth Law

Question Number : 113 Question Id : 6804016725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
RABTAT &b HIH P Hel BT T THId oy Fam R usar g2

Options :

1. ¢ Ugd g




2. % g
3. % Y g
4. * U4 fFgw

Question Number : 114 Question Id : 6804016726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The organization which ceases to grow will petrify or perish” has direct impact on :
Options :

1. % Second Law

2. % Fourth Law

3. ® Third Law

4. ¢ Fifth Law

Question Number : 114 Question Id : 6804016726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

" TS T P fAw R BT s B <l | 98 AT Y 81 ST 31 THI g1 ST SHHT Jiem THTd WRUSAT gl
Options :

1. % g g9

2. % 1Y fm

3. % R fram

4.« Urad g

Question Number : 115 Question Id : 6804016727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The normative principle which facilitates the reclassification and recataloguing of document in a library is :
Options :

1. ® Principle of Ascertaninality

2. % Law of Parsimony

3. % Principle of Osmosis

4. % Law of Permanence



Question Number : 115 Question Id : 6804016727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao Riid S GRabTerd § SXdTawl & GAaieur 3R TRl o1 GadT e &Rl 8, 98 Rigid | g?

Options :

1. % Ff¥ad &1 Rigid
2. % fiqogadr &1 g
3. ¢ IRIRUT &1 Rygid
4. * Q@ &1 Agq

Question Number : 116 Question Id : 6804016728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom did the Maharaja Sayajirao Gaikwad invite to set up the public library system in Baroda:
Options :

1. # Warren Hastings

2. % W. A. Borden

3. % William Crawford

4. % Charles William

Question Number : 116 Question Id : 6804016728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AERTS YATSIRTA TMAhATS = FSIG1 H HTaol-dh YeibTerd Jumel AU H3 & fore fbd i fasar ar
Options :

1. % gRT gfe™

2. ¥ &Y, T Sied

3. % faferan wiws

4. % e fafergH

Question Number : 117 Question Id : 6804016729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The year 1876 appears to have made a distinct epoch in the progress of library movement in :



Options :

1. # India

2. % China
3. % UK

4. % America

Question Number : 117 Question Id : 6804016729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

WUdagde P av 18767 gXIwiad Sfiaie &t wifd H U fafkm g &1 fmfor fear g |
Options :

1. ®* YRd

2. % I

3. % g

4.« AR

Question Number : 118 Question Id : 6804016730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first secretary of ALA was :

Options :

1. # RR Bowker

2. % Melvil Dewey

3. # J. Whitaker

4. % W A Borden

Question Number : 118 Question Id : 6804016730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ALA & UYH gierd ST A2

Options :

1. ¥ JR.IR. §lpT

2. « Ufcaa et

3. % ol fgcdhr



4. % 3xY, U dled

Question Number : 119 Question Id : 6804016731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

“British Books in Print ““ is a reference tool published by :
Options :

1. #* R.R Bowker

2. % ]J. Whitekar & Sons

3. # Penguin Random House

4. % Harper Collins

Question Number : 119 Question Id : 6804016731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffersr g 37 Ui fhad g1 U1l T Te Iuarur g2
Options :

1. % 3fR.3R dDHT

2. ¢ O, f@eHR 318 I (. fgeHm iR 37 )

3. % UEIY¥SH B39

4. % GIR Hifed

Question Number : 120 Question Id : 6804016732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A software system allowing cross referencing between related sections by text and other graphic materials is called:
Options :

1. * Hyperlink

2. % Hyper Text

3. % Expert Text

4. % Hyper Book

Question Number : 120 Question Id : 6804016732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

ARe 3R 3 Aithes Il gRT Gaferd U & st h1a XHIRIT Bl 3wl 20 U JioedmR e &1 $ga g

Options :

1. % BIWIH

2. ¥ GRWR TR
3. % URIUC CRE
4. % BIRUR b
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Question Number : 121 Question Id : 6804016733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
McAfee and Avast are examples of
Options :

1. * Library Ware

2. % Library Software

3. ¥ Antivirus

4. % Antisecurity

Question Number : 121 Question Id : 6804016733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

McAfee 3R Avastmwgz
Options :

1. % ARSI

2. % TgSRI WA

3. ¢ Uy

4. % TARARC

Question Number : 122 Question Id : 6804016734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A software system designed to carryout web searches is called:
Options :

1. * Bus Engine

2. % Rail Engine

3. ¥ Search Engine

4. % Search Technique

Question Number : 122 Question Id : 6804016734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

99 e B b o fEoime 1 78 WredR Red &l $ed ©|



Options :

1. % g3

2. % YA oM

3. ¢ I 3o

4. % T oM (ThHiIeh)

Question Number : 123 Question Id : 6804016735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The UNESCO Regional seminar on library development in south Asia” emphasizing the need for library legislation was held in the year:
Options :

1. ¥ 1960

2. %1970

3. % 1980

4. % 1990

Question Number : 123 Question Id : 6804016735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

" 1201 TRAT # Qb fadhN UR gAvdh! (UNESCO) 8T TSI YRAGTad BT &1 Saaddl IR 9d od gU fhg ay # Smaford fosar i Ut
Options :

1. ¥ 1960 |

2. % 1970 H

3. % 1980 H

4. % 1990 H

Question Number : 124 Question Id : 6804016736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Madras Public Library act was enacted in India?
Options :

1. ¥ 1948

2. % 1958

3. % 1965



4. % 1975

Question Number : 124 Question Id : 6804016736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H A Ufsdish drgsid) Uae fow v sifdfafia foar mar ur
Options :

1. ¥ 1948

2. % 1958

3. % 1965

4. % 1975

Question Number : 125 Question Id : 6804016737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Karnataka Public Library act (1965) was earlier named as:
Options :

1. ¥ Mysore Public Library Act

2. % Bangalore Public Library Act

3. % Mabharaja Wadeyar Public Library Act

4. % Sir M V Public Library Act

Question Number : 125 Question Id : 6804016737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hriicd Ui AR Tae (1965) DT T Ugd HIH-91 =T fear mar um
Options :

1. ¥ IRR ufedish aga] Uae

2. % AR Ui ATSsiil Tae

3. % OERIST dlsUR Ul Agsikl Ude

4. % W UH. q1. Ui argsk T

Question Number : 126 Question Id : 6804016738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

The domain expertise for NewGenLib integrated library management software is provided by
Options :

1. # Sharada Rangannathan Endowment for Library Science

2. ¥ Kesavan Institute of Information and Knowledge Management

3. % NIC

4. % VTLS Inc.

Question Number : 126 Question Id : 6804016738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

NewGenLib UHIgd BT YeeH TredtR & forg SIoF faRivzidT faads gR1 ueH @1 o 82
Options :

1. % Qdpay fas o folt [IRET THRE TSiHe

2. ¢ HUIA SRCTYE 31T SHITRH TS Alas Ao

3. % NIC

4. % VTLS Inc.

Question Number : 127 Question Id : 6804016739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Bibliotherapy’ is a service used in catering to the:
Options :

1. * Women and Children

2.+ Sick and Hospitalised

3. # Adults and Youth

4. % Sports Men / Women

Question Number : 127 Question Id : 6804016739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferndvdt ve a1 g e IuanT & BT (catering) B fodT ST & |
Options :

1. ® AT 3R I=7f



2. ¢ SR SR rgdTd & Yl A
3. % T 3R garsft
4. % d Y 9T gy / Afgarsi

Question Number : 128 Question Id : 6804016740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most appropriate way to find a reader for every book in a library?
Options :

1. # Book Procurement

2. % Closed Access System

3. % Open Access System

4. % Door Display

Question Number : 128 Question Id : 6804016740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RABTA H TS [ b (o0 UTE S Wioi T Jad) SUFd deid] Hi--11 82
Options :

1. # Qdh TG (Book Procurement)

2. % W W P (Closed Access System)

3. ¢ faga TR YUMTE! (Open Access System)

4. % 3R fe (Door Display)

Question Number : 129 Question Id : 6804016741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A reservoir of Indian electronic thesis and dissertation is called:
Options :

1. ¥ NDLTD

2. % INFLIBNET Centre

3. ¥ Shodhganga

4. % Shodhjanma



Question Number : 129 Question Id : 6804016741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR gaaei-e N 3R 2y ey & HSR 6 31 BT STl 82
Options :

1. ¥ NDLTD

2. % FAMGAEAE &% (INFLIBNET Centre)

3.« QMR

4. % SNYSIAT

Question Number : 130 Question Id : 6804016742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name of the present Director of INFLIBNET Centre is:
Options :

1. # Manoj Kumar K

2. % ] P Singh Joorel

3. % Jagdeesh Arora

4. % Yashpal Sharma

Question Number : 130 Question Id : 6804016742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

gAfGdae $& (INFLIBNET Centre) & daHT (Ha=Id &1 & AT 82
Options :

1. % T AR &

2. ¢ 3. 0. Rig oxd

3. % SIGIRT 3RIST

4. % JRUTS QA

Question Number : 131 Question Id : 6804016743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which query language is used to access RDBMS:



Options :
1. ¥ SQL
2. % BMS
3. # URSQL
4. ¥ Apache

Question Number : 131 Question Id : 6804016743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RDBMS d& tl_g\:l?lef & foru foog PEIICRU) AR (query language) DI JUINRT foaT ST 2
Options :

1. ¥ SQL

2. % BMS

3. % URSQL

4. % Apache

Question Number : 132 Question Id : 6804016744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following assist in saving the time of the reader:
Options :

1. #* Library Manual

2. % Library Documentation

3. * Four Card Guides

4. ¥ Stack-Room Guides

Question Number : 132 Question Id : 6804016744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed ¥ § -1, e b1 gHg ST B gl HRdT 82
Options :

1. % Wﬁﬁaﬂ (Library Manual)

2. % QIR AT HRUT (Library Documentation)

3. % IR HTS ANIGRIHT (Four Card Guides)



4. ¥ WH TH qHIGRIPT (Stack-Room Guides)

Question Number : 133 Question Id : 6804016745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the most primitive system of lending books?
Options :

1. % Book Lending

2. ¥ Day Book and Ledger System

3. # User lending system

4. % Union Catalogue system

Question Number : 133 Question Id : 6804016745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & § HH-, T YR S (lending books) &1 &Y U YU 82
Options :

1. # W JYR ¢ (Book Lending)

2. ¢ 3 gH IR TR Rew

3. % JUANTHAT IUR YuIe! (User lending system)

4. % gy ﬁiﬁ PUIK]] (Union Catalogue system)

Question Number : 134 Question Id : 6804016746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Romans used prachment sheets, bound together to form a book, called:
Options :

1. # Linedex

2. % Kardex

3. % Codex

4. # Fladex

Question Number : 134 Question Id : 6804016746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT A U T § & oY Th 1Y &8 §U IHU= &1 JanT fhar o, ol weT S g
Options :

1. % Ao

2. % Pload

3. HleH

4. % TRISH

Question Number : 135 Question Id : 6804016747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a computer has more processing power than some other classes of computers,then it is called:
Options :

1. % Large Computers

2. % Mega Computers

3. ¥ Big Computers

4. ¥ Super Computers

Question Number : 135 Question Id : 6804016747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe el SR B UG SRR P BB 3 Tl B gl H 31 AR TR B, 1 I Bl Sl 2
Options :

1. % TS HUECR

2. % I HYR

3. % [T YR

4. IR YR

Question Number : 136 Question Id : 6804016748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Computers which are intended to be operated by end user rather than a technician is called:
Options :

1. % Corporate Computers



2. ¢ Personal Computers
3. % Individual Computers

4. % Ready Computers

Question Number : 136 Question Id : 6804016748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR S TH TH-NRG & I 3HfaH STANTH Al gRT aferd o+ & fog Fffa fru o€, 3¢ Fsd &l
Options :

1. % PIARC HECY

2. ¢ T HeY

3. % fSfagerd buged

4. % I8 HEgey

Question Number : 137 Question Id : 6804016749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first public library in Greece was established in 330 BC in :
Options :

1. ¥ Athens

2. #* Alexandria

3. % Rome

4. % Sumeria

Question Number : 137 Question Id : 6804016749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & gyy rdoife qRaemTerd 330 ST g4 H el wiifid fosar mar um
Options :

1. ¥ WY

2. % Jrcidiigdr

3. %3

4. % gaRar



Question Number : 138 Question Id : 6804016750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The library of King AshurbaniPal contained numerous books on a variety of subjects and were arranged:
Options :

1. % Form Wise

2. % Subject Wise

3. ¥ Author Wise

4. % Date Wise

Question Number : 138 Question Id : 6804016750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI SRIRATONUTE & JRIehTard B g [aual IR s gddh of 3R 3= ford ave ¥ srafyd fosar mar um
Options :

1. % BiH & YR W

2. ¢ AT & YR IR

3. % WD &b AR

4. % feAH & AMMUR W

Question Number : 139 Question Id : 6804016751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set of rules produced by IFLA to create standard bibliographic details to be used in a library catalogue is called :
Options :

1. % ISBN

2. ¥ ISBD

3. % ISSN

4. % ISRO

Question Number : 139 Question Id : 6804016751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QBT A0 o SUdIT faT S arel Aes 3 It faaror a9 & o 1rLA g1 fAfifa Famit & ue Je &t 31 det orar &2



Options :

1. % ISBN
2. ¥ ISBD
3. # ISSN
4. ¥ ISRO

Question Number : 140 Question Id : 6804016752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of removing the vandalized and unwanted books in a library is called:
Options :

1. # Deleting Out

2. % Cutting Out

3. ¥ Weeding Out

4. ¥ Removing Out

Question Number : 140 Question Id : 6804016752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

qEadhag | & Td sraifesd qRa®! ol geH 1 Uioha a1 dgad! 62
Options :

1. * feefifen smae

2. % BT 3MHe

3. ¢ difgT 3MHe

4. % JufdT snge

Discipline3
Group Number : 8
Group Id : 68040142
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 680401138

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 680401160

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6804016753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of over sewing to secure the loose pages of the volumes of books, is a part of :
Options :

1. ¥ Book Binding

2. % Paper Back

3. % Hard Bound

4. % Cover Binding

Question Number : 141 Question Id : 6804016753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

THD| & WS & Fda §UTA! B GRIEd B & [ SR Y P o arelt Ry, D1 UfchdT o1 T TR 5|
Options :

1. ¢ §b 1T

2. % TR d&H



3. % gIS 9I3US

4, % HI ARFST

Question Number : 142 Question Id : 6804016754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plato was a librarian and formed a library at :
Options :

1. % Syracuse

2. % Athens

3. # Rome

4. % Egypt

Question Number : 142 Question Id : 6804016754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

@il U QRadbrarreds 3 3R I5i- Udh TADHIad HI 64 Bl [hdn
Options :

1. ¢ RRregs

2. % 7dY

3. %Y

4. % {0y

Question Number : 143 Question Id : 6804016755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The canon which decides the position of an entry among the various entries elements in a catalogue is, the canon of:
Options :

1. ¥ Local Variation

2. % Recall Value

3. % Ascertainability

4. ¥ Prepotence

Question Number : 143 Question Id : 6804016755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS aoa # fafte ufaf® awl & o foreht ufaf® &1 Rufa Ffdd o= aren te Risid 3, o fvaant Risid e 82

Options :

1. % R fafaedn
2. % RepTd deyg

3. % fAfgqar

4. ¢ G

Question Number : 144 Question Id : 6804016756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The canon which helps in choosing the headings for a catalogue is called the canon of :
Options :

1. ¥ Sought Headings

2. # Consistency

3. % Permanence

4. % Currency

Question Number : 144 Question Id : 6804016756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Rigid o fd geum & e 2ive! o1 T o3 & Aeg ovdl 8, 39 Rigid &) 31 $g1 SId1 82

Options :

1. ¢ qifed Mu®
2. % JATAdT

3. % WG

4. % Hal

Question Number : 145 Question Id : 6804016757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tables are there in the 19th ed. DDC ?
Options :



1. # Five
2. # Six
3. ¥ Seven
4. % Eight

Question Number : 145 Question Id : 6804016757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
199 EEHROT DDC H el caed g2
Options :

1. % O

2. % 9%

3. 9Id

4. % 3

Question Number : 146 Question Id : 6804016758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which sheme of classification was devised by Paul Otlet and LaFontaine
Options :

1. ¥ UDC

2. % DDC

3. % CC

4. % EC

Question Number : 146 Question Id : 6804016758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI B HH-HT JIor Uidt Sffcdic 3R AMDIc gRI IR Bt 75 A2
Options :

1. ¥ UDC

2. % DDC

3. % CC

4, % EC




Question Number : 147 Question Id : 6804016759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thousands of e-books can be accessed on a special device called :
Options :

1. % Doodle

2. % Googlie

3. % Kindle

4. % Dwindle

Question Number : 147 Question Id : 6804016759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR fSasy W goRl - 3% e Sl s Tddl 8, o FeToar gl
Options :

1. % Doodle

2. # Googlie

3. ¥ Kindle

4. % Dwindle

Question Number : 148 Question Id : 6804016760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who used Analytico synthetic approach in designing a library classification scheme :
Options :

1. % CA Cutter

2. % HE Bliss

3. ¥ SR Ranganathan

4. ¥ Melvil Dewey

Question Number : 148 Question Id : 6804016760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QBT BT Ao Bl fSogH HRA H TAIaesd! Ridfed e¥@io &1 udiT fean foar um



Options :

1. % T T HR

2. % 19, 3. foog

3. ¢ TY. 3R, THYA
4. % Ofcad Sdl

Question Number : 149 Question Id : 6804016761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Adjustable Book Racks and Shelves” will accommodate the library collection, thus fulfilling the :
Options :

1. # Fourth Law

2. % Fifth Law

3. # Second Law

4. % Third Law

Question Number : 149 Question Id : 6804016761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN e X 3R QAeth" THIGIT W8 Sl JHEING BT, 39 UHR Fafifead § @ -3 o o gof s
Options :

1. % vy g

2. % Urgdl Fad

3. % gou fgw

4, « R Fow

Question Number : 150 Question Id : 6804016762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first book in 1974 about personal computers is written by :
Options :

1. % Bill Gates

2. % Ted Nelson

3. % Vannevar Bush



4. % Howard Aiken

Question Number : 150 Question Id : 6804016762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR HeX & aR H 1974 T Ugell G fohadb g1 ferat 718 o
Options :

1. % fqd g

2. ¥ TS A

3. % AR

4. % gids U

Question Number : 151 Question Id : 6804016763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A computer application for organizing, analysing and storage of data in
a tabular form is called:

Options :

1. ¥ Word Document
2. % Excel Sheet

3. % Spread Sheet

4. % Table Sheet

Question Number : 151 Question Id : 6804016763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRUNES ©0 H ST &1 afRyd T6-, fIRay #5A 3R 1SR & ot Iuad Ueh diex URIh A & Fufiiad & 3 51 w8l Sildl 82
Options :

1. % 93 SlagHc

2. % T gfie

3. ¥ W gfie

4. % T TIC

Question Number : 152 Question Id : 6804016764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25
CDS/ISIS was developed by :

Options :

1. ¥ INSDO

2. % DESIDOC

3. # NIC

4. ¢ UNESCO

Question Number : 152 Question Id : 6804016764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CDS/ISIS 374 A fordh gRT faep i fobam ma ur2
Options :

1. % INSDO

2. % DESIDOC

3. ¥ NIC

4. % UNESCO

Question Number : 153 Question Id : 6804016765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of information source provides the information about a particular product and its development :
Options :

1. # Patents

2. % Trade Literature

3. # Index

4. % Journal

Question Number : 153 Question Id : 6804016765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TR &1 a1 did fardt faRiy IaTe $iR 39 fadh & SR & SHSR UaH &dl 82

Options :




1. % U2y
2.« AR g

3. % 3{IhHOIDHT
4. % AP

Question Number : 154 Question Id : 6804016766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the main contribution of CA Cutter (1837-1903) is enunciation of :
Options :

1. % Rules for a Printed Dictionary Catalogue

2. # British Museum Cataloguing Rules

3. % Anglo American Cataloguing Rules

4. % Online Public Access Catalogue Rules

Question Number : 154 Question Id : 6804016766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CA TR (1837-1903) BT U Y ANTGTH T 82
Options :

1. ¥ U Ofad AMeadh < YU (deanT) & fore o
2. % fofewr GugTea QiR fam

3. % Wl 3RS Yol Faq

4. ® WWWWW

Question Number : 155 Question Id : 6804016767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A collection of program that enable a person to manipulate images or models visually on a computer is called :
Options :

1. # Static Software

2. ¥ Graphics Software

3. % Hypertext

4. % Hyper media



Question Number : 155 Question Id : 6804016767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 U GUg off fohdl! aafad & e R [asgsrel sfadl a1 Atsal &I A=qyee $R- § W& §1d1 8, HEaA 6:
Options :

1. % WP AR

2. ¢ UTithaR FIHCITR

3. % GRIRCRL

4. % gUR Hifsar

Question Number : 156 Question Id : 6804016768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a communication software :
Options :

1. ¥ Zoom

2. % Bestlinks

3. % Computers

4. % Laptops

Question Number : 156 Question Id : 6804016768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed o 9§ oH-91, 6 TR St 82

Options :

1. ¥ 9H

2. % oEfoiay
3. % HYR
4. % dUerg

Question Number : 157 Question Id : 6804016769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following is a open source operating system :
Options :

1. ¥ MS-DOS

2. % Windows Vista

3. ¥ Linux

4. % Windows NT

Question Number : 157 Question Id : 6804016769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad # 3 SI-3, T it 9N SifRfeT Ren g2
Options :

1. ¥ MS-DOS

2. % Windows Vista

3. % Linux

4. % Windows NT

Question Number : 158 Question Id : 6804016770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What type of computer component is a printer :
Options :

1. # Input Device

2. % Output Device

3. # Data Generater

4. % Operator Device

Question Number : 158 Question Id : 6804016770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fifex, 370 O fr YR &1 SR Uewh 82

Options :

1. % gYC f&arsy
2. ¢ 33CYC fearsy




3. % T O eR
4. % Ve fgary

Question Number : 159 Question Id : 6804016771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

International Standard Bibliographic Description (ISBD) are a set of rules to be used in library catalogue is framed by :
Options :

1. # FID

2. % IFLA

3. % ALA

4. % UNESCO

Question Number : 159 Question Id : 6804016771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS o Jy e fdaRur (1SBD) FaH! &1 T g & foresT SUaRT YeasTad gaiud # fovdn St &, 39 fhds g1 daR o mar g2
Options :

1. % FID

2. ¥ IFLA

3. % ALA

4. % UNESCO

Question Number : 160 Question Id : 6804016772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the National Knowledge Commission formulated :
Options :

1. ¥ 2005

2. % 2006

3. % 2018

4. % 2020

Question Number : 160 Question Id : 6804016772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

ST I ST b1 76 fobe au H fopa am m

Options :

1. 2005
2. % 2006 H
3. % 2018
4. % 2020 "

Discipline4
Group Number : 9
Group Id : 68040143
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline4
Section Id : 680401139
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 680401161
Question Shuffling Allowed : Yes



Question Number : 161 Question Id : 6804016773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first systematically organized library in the ancient middle east by Assurbani Pal was :
Options :

1. ¥ Nineveh

2. % Athens

3. # Sumeria

4. % Babylone

Question Number : 161 Question Id : 6804016773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS UTd GRT U 7ed gd § ShHasd: Hayd Ugdl JEadblad Bl R RYd U1?
Options :

1. ¢ HHd

2. % Ty

3. % gaRar

4, % qdlaH

Question Number : 162 Question Id : 6804016774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Distillation one of the modes of formation of subject in elements of library classification gives rise to a:
Options :

1. ¢ Primary Basic Subject

2. % Secondary Basic Subject

3. % Assembled New Subject

4. % Loose New Subject

Question Number : 162 Question Id : 6804016774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



fSReTRM (Distillation) T T®HRUT & dcdl H fawd o A0 & TRidb! § 4 U ¢ ol Th DI Ifed IxaT 5|
Options :

1. ¢ Ui gl fawg

2. % fgdiae qa faw

3. % Wﬁa(/&ssembled)?@qﬁw

4, ® W@H(Loose)ﬁ%ﬂ’q

Question Number : 163 Question Id : 6804016775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Special Library Association in the United States of America was founded in the year :
Options :

1. ¥ 2000

2. % 2001

3. % 1909

4. % 2009

Question Number : 163 Question Id : 6804016775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Ao SHREDT H WA AT THIRYURH B RUTGT fobd ay # b1 71 i
Options :

1. % 2000 |

2. % 2001 F

3.4 1909

4. % 2009 "

Question Number : 164 Question Id : 6804016776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Press and Registration of Books Act was passed in the year:
Options :

1. # 1857

2.9 1867



3. % 1967
4. % 1968

Question Number : 164 Question Id : 6804016776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

s SAMTT &1 U 3R defteon sififam fose ol uifva fasan mmam am
Options :

1. % 1857

2. % 1867

3. % 1967

4. % 1968

Question Number : 165 Question Id : 6804016777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Microsoft Power Point program was developed by :

Options :

1. % Paul Otlet and Henri la Fontaine
2. % Adam Smith and TR Mathews

3. ¥ Robert Gaskins and Dennis Austin
4. % Andy Robertson and Bill Gates

Question Number : 165 Question Id : 6804016777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS0 UTaR Wise U &I fhad gRT fde iy favar mar um
Options :

1. % O 3ficale 3R =1 o i

2. % TSH {7y 3R &.3R. Tgw

3. ¢ JISC TfHY 3R S e

4. % T3 AqeTA 3R fod ey



Question Number : 166 Question Id : 6804016778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Technical Jargons are a barrier to :
Options :

1. ® Access Providing

2. % Communication

3. # Information

4. % Knowledge

Question Number : 166 Question Id : 6804016778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

GGl CAK LAl (Jargons), 7% 1%112 Tdh d1T % [
Options :

1. % TR U

2. ¥ FaR

3. % SM&R]

4, % JH

Question Number : 167 Question Id : 6804016779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which school of library science in India was established in 1929:
Options :

1. ¥ Madras

2. % Delhi

3. % Mysore

4. % Mumbai

Question Number : 167 Question Id : 6804016779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



YRA | 1929 & YA Ierd a3 &1 hd Dol R fovar T o1
Options :
1. ¥ Hg
2. % el
3. % IR
4. % a3

Question Number : 168 Question Id : 6804016780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Canon which describes that the information found on the title page and its overflow pages is the basis of determining the choice and heading of a
catalogue entry is called :

Options :

1. ¢ Canon of Ascertaniability
2. % Canon of Prepotence

3. % Canon of Sought Headings

4. % Canon of Permanence

Question Number : 168 Question Id : 6804016780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ@ﬁ,@aﬁm%%%w@vw&@aﬁ@mwmwmﬁwsﬁwﬂwmﬁﬁﬁmﬁm&nﬂr\f%aﬁw
hedldl &?

Options :

1. ¢ a1 Rgia

2. % 3ffAiemAd o1 Rrgid

3. % qifed e &1 Rgid

4. % QY 1 Rrgid

Question Number : 169 Question Id : 6804016781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The catalogue code which was jointly prepared by Library Association London and the American Library Association is called:
Options :



1. ¥ AA Code

2. # British Museum Code

3. % (lassified Catalogue Code

4. % Rules for Dictionary Catalogue

Question Number : 169 Question Id : 6804016781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bis o ATgsRt TR ded 3R SMfve argsit THRIee gRT Ggad 0 J TR a1 17 o1, 98 HEAT B

Options :

. ¥ AADIS

2. % fofew SR Big

3. % qllepd qHud B

4. % Tegeh ! YU & o fgg

Question Number : 170 Question Id : 6804016782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the publication of a document is lengthy and time consuming process it is called the barriers of :
Options :

1. % Political

2. % Time Lag

3. # Economic

4. % Language

Question Number : 170 Question Id : 6804016782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fohft GXATas o1 UHTRH ool IR G o arell UfshaT 8, 3 a1y Hgl Sl g
Options :

1. % Tofifcre

2. ¢ gAY RTd

3. % i

4, % Yoy




Question Number : 171 Question Id : 6804016783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Digital Library in India (NDLI) is a project developed by :
Options :

1. * 1T, Mumbai

2. ¥ 1IT, Kharagpur

3. # IIT, Delhi

4. % 11T, Madras

Question Number : 171 Question Id : 6804016783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd # AP fSfored geased (NDLD, _ gRT fasRid T uRae 3|
Options :

1. % T, §s

2. ¥ IIT, @STYR

3. % 117, fa et

4. % 1IT, Hg™H

Question Number : 172 Question Id : 6804016784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a softskill required for the librarians :
Options :

1. * Computer Hardware Use

2. % Libray Software Use

3. ¥ Punctuality

4. % (Classification of Books

Question Number : 172 Question Id : 6804016784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



QA TaaTedel o fog FafaRad & § $H-5 Ue dite Rebd SHava® &2
Options :

1. ¥ HYR FTSAWR B ITANT

2. % WIS WIFCATR BT SYANT

3. ¢ qHY DI e

4. ® QD] BT GIHROT

Question Number : 173 Question Id : 6804016785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom do librarians guide to ensure that the following users get access to high quality and relevant information :
Options :

1. ¥ Researchers

2. # General Public

3. * House bound

4. % House Wives

Question Number : 173 Question Id : 6804016785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QEABICTee (gsigH) Frafiad Sudrdhdial ®1 7 YHiEd B & for Arfesi= o & fob 3= oran iR yRife SR % Ugd
U]

Options :

1. ¢ TNyl

2. % 3H Sal

3. % WU Ry am

4. % TfgoraY

Question Number : 174 Question Id : 6804016786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the isolate ideas belonging to the same array of facet are in a relation with each other idea , then it is :
Options :

1. ¥ Intra Array Relation



2. % Intra Facet Relation
3. % Intra Subject Relation
4. % Intra Phase Relation

Question Number : 174 Question Id : 6804016786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd U g1 urf ¥ Tefd SeT-e foaR T iR & fTaR $ Ay Ay H g 8, AT T8 &
Options :

1. ¢ SR WRUft =R Hey (F21 W Rewe)

2. % 3R UG IR0 Uy (321 hive Rarm)

3. % 3ic:favy Hey (3¢ Ysolde RaAxH)

4. % 3R ol Y (ST Tol RARM)

Question Number : 175 Question Id : 6804016787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The father of administrative management is :
Options :

1. # EFL Brech

2. # Peter Drucker

3. # FW Taylor

4. ¥ Henry Fayol

Question Number : 175 Question Id : 6804016787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed o 9 &9 ymaHe Yded & 96 52
Options :

1. ¥ SUGUA sF

2. % GIeX ghR

3. % U S R

4.« R B



Question Number : 176 Question Id : 6804016788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most traditional approach to budgeting is
Options :

1. % ZBB

2. % Line-item Budgeting

3. ¥ PPBS

4. % Performance Budgeting

Question Number : 176 Question Id : 6804016788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. * ZBB

2.  ATS-3MTSCH Solfc

3. % PPBS

4. % YR gl

Question Number : 177 Question Id : 6804016789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
CALIBER is the annual conference organized by :
Options :

1. ¥ DELNET

2. % INDEST

3. % INFLIBNET

4. % MYLIBNET

Question Number : 177 Question Id : 6804016789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CALIBER 9% gRT 3maford ue arftfes g e g2



Options :

1. ¥ DELNET

2. ¥ INDEST

3. INFLIBNET
4. % MYLIBNET

Question Number : 178 Question Id : 6804016790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICADL is the annual conference in Asian countries on :
Options :

1. # Special Libraries

2. % Digital Libraries

3. # Academic Libraries

4. % Public Libraries

Question Number : 178 Question Id : 6804016790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICADL, TRME =i # 35 =il 1 U a1fifer Iwia giam g2
Options :

1. % ORIy gradred

2. ¢ f&fSied Qdsbrar

3. % QeifI% QawIad

4. % QrdS-eH JEabed

Question Number : 179 Question Id : 6804016791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organization has its head quarters at 'The Hague' :
Options :

1. # WIPO

2. # WHO

3. ¥ IFLA



4. % ALA

Question Number : 179 Question Id : 6804016791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g g1 § Ffaad & 9 ford e &1 gered 87
Options :

1. # WIPO

2. ¥ WHO

3. ¥ IFLA

4. % ALA

Question Number : 180 Question Id : 6804016792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

NISCAIR publishes a unique secondary source of information called :
Options :

1. * Indian Library Science Abstracts

2. % Indian Science Abstracts

3. # Indian Social Science Abstracts

4. % Indian Technological Abstracts

Question Number : 180 Question Id : 6804016792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

NISCAIR SR &7 T 3ifged1a fgciiaes Hid Ui &Rl § for &gl ST 8:
Options :

1. % YR QDT fage IR

2. ¢ YR fagM IR

3. % YR G faq IR

4. % YR dob-iteh! IR

DisciplineS



Group Number : 10

Group Id : 68040144

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
DisciplineS

Section Id : 680401140

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 680401162

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6804016793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Now INSDOC is given a new name called :
Options :

1. ¥ NISCAIR

2. % SENDOC

3. % DESIDOC

4. % NASSDOC

Question Number : 181 Question Id : 6804016793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

31§ INSDOC &1 T =11 T & a1 § Fordl et Sire &
Options :

1. ¥ NISCAIR

2. % SENDOC

3. % DESIDOC

4. % NASSDOC

Question Number : 182 Question Id : 6804016794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The NISSAT was established in India with the support of :
Options :

1. % VINITI

2. % UNESCO

3. ¥ IFLA

4. % FID

Question Number : 182 Question Id : 6804016794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA T NISSAT &1 RITUAT {0 4 g3 o
Options :

1. ¥ VINITI

2. % UNESCO

3. % IFLA

4. % FID

Question Number : 183 Question Id : 6804016795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In ‘Heirarchical Classification’ you can arrange a group of classes in the order of :
Options :



1. % Successive Subdivision
2. # Regular Classes
3. % Main Classes

4. % TIrregular Divisions

Question Number : 183 Question Id : 6804016795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QUi ffeor & S e H TR s P HHH AARUIT IR Jhd 8
Options :

1. ¢ it IUTS

2. % fyaff ot

3. % Q@I

4. % I TS

Question Number : 184 Question Id : 6804016796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of adding tags or keyword freely to online resources is called :
Options :

1. ¢ Social Tagging

2. # Digital Tagging

3. # Service Tagging

4. % Library Tagging

Question Number : 184 Question Id : 6804016796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS HHTE H < U HIGS D) WA FY A SIS I UfshdT _ Ppgeindi o
Options :

1. ¢ AR <R

2. % feforea e

3. % giag i

4. % AEeRY S



Question Number : 185 Question Id : 6804016797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The letter ‘S’ in the acronym PODSCORB means :
Options :

1. #* Silence

2. ¥ Staffing

3. % Satistics

4. % Screening

Question Number : 185 Question Id : 6804016797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 =9 PODSCORB # 'S' 31&R &1 Juf &7 g:
Options :

1. # Silence (Fﬂgﬁﬂ)

2. ¢ Staffing (ITHT)

3. % Satistics (1%%1@3%{)

4. % Screening @ﬁﬂ)

Question Number : 186 Question Id : 6804016798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A social cataloguing of web application for sorting and sharing of book catalogues and various types of book metadata is called :
Options :

1. * Internet of Things

2. % Library Thing

3. % Social Thing

4. % Cataloguing

Question Number : 186 Question Id : 6804016798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH dheanT 3R fAfd THR & Jxds Hersel i Ble 3R AT B & (07T 99 TRIDHRE & Th JHToID FAIHR0 DI F1 BT SITdl 62
Options :

1. % $ex-c 3 I (Internet of Things)

2. ¥ QDI P1 dio (Library Thing)

3. % JHIRI® IS (Social Thing)

4. % @W(Cataloguing)

Question Number : 187 Question Id : 6804016799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SOULisa:

Options :

1. #® Library Service

2. % Library Hardware

3. ¢ Library Software

4. % E-Resource

Question Number : 187 Question Id : 6804016799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SOULT® _ @©l

Options :

1. % QEiepIerg Jal

2. % THIPBIY BTSATR

3. ¢ QRABI A daR

4, % SHHIYA

Question Number : 188 Question Id : 6804016800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Manupatra’ is the name of a :

Options :

1. ¥ Database

2. # Software



3. ¥ Book
4. % Philosophy

Question Number : 188 Question Id : 6804016800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TUAI TS HIAHG

Options :

1. v STleg

2. % AR

3. % Qdd

4. % o=H

Question Number : 189 Question Id : 6804016801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ‘Byte’ is a collection of :

Options :

1. # 4 bits

2. % 6 bits

3. % 8 bits

4. % 12 bits

Question Number : 189 Question Id : 6804016801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T wige Ffiied ¥ 3 frge te W A e
Options :

1. % 4fqc 1

2. % 6 faC B1

3. ¢ gfac &1

4. % 12fqeHr

Question Number : 190 Question Id : 6804016802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

Unsolisited bulk - sent mail messages delivered to an inbox are called
Options :

1. % Junk Mail

2. % Bulk Mail

3. % Norton Mail

4. % Normal Mail

Question Number : 190 Question Id : 6804016802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3qifesd Ui (Sch) H ST H fSeliar T U A Teui & o1 gl ST 8
Options :

1. ¢ S 7

2. % §cb AA

3. % Fidq s0d

4. % Frdd Ad

Question Number : 191 Question Id : 6804016803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cognitively processed data is :

Options :

1. #* Raw Facts

2. ¥ Information

3. % Knowledge

4. % Wisdom

Question Number : 191 Question Id : 6804016803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS =Y A FIT 3fipeT (ST Bl 8:

Options :




1. * Uy qu (Raw Facts)
2. ¢ SHBR
3. % I

4. % gfGHT (Wisdom)

Question Number : 192 Question Id : 6804016804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The copyright act of India was enacted in the year :
Options :

1. ¥ 1957

2. % 1958

3. % 1967

4. % 1968

Question Number : 192 Question Id : 6804016804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT BIARTSC SHiAfam, foog v 7 sifafafiad fasar mar ur
Options :

1. 1957 H

2. % 1958

3. % 1967

4. % 1968 T

Question Number : 193 Question Id : 6804016805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the example for primary information sources according to Denis Grogan :
Options :

1. % News Digests

2. % Journal papers

3. # Indexing Journals

4. % Almanac



Question Number : 193 Question Id : 6804016805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST I & IR, Wi Ja1 Hidl & forg Fafeiad § & &1F-91 U6 3aTer 87
Options :

1. % S SEole

2. ¢ Sd U

3. % 3{HYU UFBTY

4. % G

Question Number : 194 Question Id : 6804016806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rapid increase in the amount of published information and its effects on information use is called :
Options :

1. # Informstion generation

2. # Information Creation

3. % Information Explosion

4. % Knowledge management

Question Number : 194 Question Id : 6804016806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTRIA AT B! I 8 i g TN G & TR RIS TG S Hed g
Options :

1. % STHIHTH SR

2. % TR fohusE

3. ¢ BN TRIRM

4. % FleS HAGHC (JH Tae)

Question Number : 195 Question Id : 6804016807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



“ The amount of information in a message depends of the size of the words contained in the message “ says:
Options :

1. % Shannon and Weaver

2. % Shannon and Brookes

3. # Weaver and Hookes

4. % Weaver and Losswell

Question Number : 195 Question Id : 6804016807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot =T T I &1 AT e H SUgHd Teal & SHR WR R vl 8 I8 fhe w182
Options :

1. ¢ Q9 SR AR

2. % Y SR g

3. % diaR 3R g

4. % GaR 3R ArGad

Question Number : 196 Question Id : 6804016808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The two channels of communication are :
Options :

1. ¥ Formal and Nonformal

2. # Simple and Complex

3. # Radio and TV

4. % Regular and Irregular

Question Number : 196 Question Id : 6804016808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR & &1 e HIH-8 82

Options :

1. ¢ AR 3R SRS

2. % WA AR Ifed



3. % IS R A
4. % fafig iR sifvafia

Question Number : 197 Question Id : 6804016809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Geographic indications’ is an element of :
Options :
1. ¥ VPR
2. ® DRP
3. % CPR
4. ¥ [PR

Question Number : 197 Question Id : 6804016809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRTifere SueR Fafad # 3 fraed ad o
Options :

1. % VPR

2. % DRP

3. % CPR

4. ¥ TIPR

Question Number : 198 Question Id : 6804016810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Post Industrial Society is known as :
Options :

1. * Industrial Society

2. % Information Society

3. # Agrarian Society

4. ¥ Modern Society

Question Number : 198 Question Id : 6804016810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

URe $sRead TRmge! & farg &0 o ST ST 82
Options :

1. % 3NN JHre

2.« AT HNS

3. % Y A

4. % 3TYfIh T

Question Number : 199 Question Id : 6804016811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S R Ranganathan’s Classification system is based on :
Options :

1. ¥ Analytico-synthetic approach

2. % Cognitive approach

3. % Consenses approach

4. % Bibliometric approach

Question Number : 199 Question Id : 6804016811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 3R, T F =01 goredt v wR senfed 82
Options :

1. ¢ fozduuneas-Ridfes e

2. % IS EFHI

3. % Qe DI

4. % YA EPDIr

Question Number : 200 Question Id : 6804016812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The head quarters of Common Wealth Library Association (COMLA) are located at :
Options :



1. ¥ Paris, France

2. ¥ Kingston Jamaica

3. % London,UK

4. % Washington, DC,USA

Question Number : 200 Question Id : 6804016812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIAT I AT THIRITIA (COMLA) HT TR FHal UR fRd g2

Options :

1. % ORY, i

2. ¢ fhres, Shw

3. % W, gb

4. % qIRfTeH, S, guyT



